g Pneumatic
(AW ™ e

 MAL20-25-CA

. Pressure:0.05~1.0MPa

N
¥ A

MSA20-100-CA | W
Pressure:0.05~1.0MPa

MFJ25-70-CA
Pressure:0.05~1.0MPa




NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

12

MSN %%S L / MSN Series cylinder

MSN Z 5 AFEFWNERSREL (ISO 6432)

MSN Series stainless steel mini cylinder(ISO 6432)

' |
3 ;d‘ - »
aﬂ-\é\\vﬁf@g -

T =

1, 54 1506432 t5E;
2, FifG MSN SET&ERHH; MSNCD

3, ®16( &) EIRL LA BEHSEM; |

4, NEEIREEIT RELAFHF NPPC A RIEK AT

1,1ISO6432 standard;

2,All MSN cylinder with Magnet;

3,16mm~25mm bore can make with air Cushion ;
4,Contact NPPC for Custom cylinder;

VSN #51iTRa%S / MSN Series ordering code

IMSN| - [ 20

- | 50

| - [cA

- | LB

ZIK S /Series code

MSN S 51% / Double action type

MSND WihE A / Double-shaft double action type
MSNJ Py Bk

Double-shaft and adjustable stroke type
MSNC S&hL&HR! | With cushion type

WS Bh2E R
MSNCD Mini cylinder(double rod with cushion
MSNCJ inﬁﬁgﬂﬁfﬂagﬁﬁﬁg . )
Mini cylinder(adjustable stroke with cushion)
MSS BERE A / Mini cylinder(single acting-push)
MST B3| AR / Mini cylinder(single acting-pull)

£14Z / Cylinder bore

1742 /Stroke
8,10 1---100
12,16 1---200
20 1---320
25 1---500

TIFEFE / Adjustable stroke type
0--100

&85 / Back cover type

CA 2EA / Fishtail type

CM [FEZ / Rounded type

u SRR/ Horizontal type

ElE& R /Fixed type

ZH /Blank  |EZZE! / Normal type

LB BI/EEEEL / Front and back fixed type
FA BIE=EIE AL / Front cover fixed type
SDB [EE= #2428 | Back cover swinging type
TC = EE A / Back cover fixed type

RO B REE X7 R i A AR




MSN Z %S L/ MSN Series cylinder

FS | B FS | B
1 2.3 4 5 6 7 8 9 10 11 12 13 14 15 16 NO. |Designation NO. |Designation
1 SEZEAT /Piston rod 9 TEFNE /Stainless steel Barrel
2 SEEATIZE /Pistonrod nut |10 | SEEATEEE /Piston rod O-ring
3 Rz £ /Front cover seal |11 |i&Z 0% /Piston p-O-ring
4 & ihih% /Bearing 12 |#i%k (ATE) /Magnet(Optional)
| K 5 A7 122 /Hexagon screw |13 |fifEEER /Wear ring
6 B /Front cover 14 |7&E /Piston
7 22 ¥ $1 & /Cushion ring 15 |A7< 248 /Hex socket screw
8 EEE 04 /O-ring 16 |f53 /Back cover
| 5655 /General data
42 / Bore (mm) 8 10 \ 12 \ 16 20 25
T/ / Working medium == /A
Zh{ERIZ, / Motion pattern SxhBisk B 51% / Double action or single action
FRIEME S / Ensured pressure resistance 15.3kgf/cm2(1.5MPa)
RefEAES / Max.pressure 10.2kgflcm2(1.0MPa)
RIRFEAES / Min.pressure 0.5kgf/cm2(0.05MPa) 1kgflcm2(0.1MPa)
IMEFRIAIRE / Environment and fluid temp -20 ~ 80°C (NEMIFEL: £S5 60°C) / Internal Magnet type temp Max: 60 ‘C
JEZEIRE / Speed Range 50 ~ 750mm/s
#% / Rubber buffer AREH (FRf) Rubber bufer(Standard), S£&x (f£i%) Air buffer(Option)
Praryarw —
l’ﬁ‘li—f'ﬁj]ﬁb (kgflcm) / Kinetic energy to 0.2 0.3 04 0.9 07 4
erance(kgf/cm)
N1 / Pipe size M5x0.8 G1/8
MSN-CA A+17#2 (Stroke)
A1+1T7F2 (Stroke) 0
L M
( op L GL ox DL OP]
Y b [
e 7% T\ B L1 | [ —
F 4 - T EJ aBRN © )
N <L/ 1 T L ! ] \
\ -
a7
Q L1 G D \ T
S1 B A2+47FE (Stroke) C T1
S2 .
A3+17#2E (Stroke)
MSN-CM MSN-U
2x EL X EL
T 1h [ [1
= &\\; 7 | — — @
E \ ‘ E \
C1 op P
- 2 . -
AS+TF2 (Stroke) S AGHFFE (Stroke) s2

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

13



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

T BETS

14

MSN Z 3 S#L / MSN Series cylinder

IR‘T]‘%% / Dimension sheet
ER/ FS
Bore/ A A A2 A3 | A4 | A5 B c c1 D D1 E E1 F 6 61 H |
Symbol
8 76 64 46 86 74 86 28 12 12 10 55 10 55 6 10 55 12 12
10 76 64 46 86 74 86 28 12 12 10 515 10 515 6 10 515 12 12
12 91 74 50 105 88 105 38 17 17 10 6 10 6 9 10 6 16 17
16 98 82 55 111 92 111 38 19 19 10.5 6 10.5 6 9 10.5 6 16 16
20 115 95 64 128 107 128 43 21 21 14 7.5 14 7.5 9 14 7.5 20 16
25 126 104 66 137 116 137 50 21 21 15 8 15 8 12 15 8 22 22
B2/ HFS
Bore/ J K L M N 0 P | Pl | a R | st | s2 | 1 | 11 X VoW |y
Symbol
8 2.2 M4x0.7 M12x1.25 6 16 10 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
10 2.2 M4x0.7 M12x1.25 6 16 10 17 4 8 12 15 15 7 17 M5x0.8 4 9.3 -
12 5 M6x1 M16x1.5 6 22 14 21 6 12 16 20 19 10 24 M5x0.8 6 14 5
16 5 M6x1 M16x1.5 6 22 18 21 6 12 16 20 19 10 24 M5x0.8 6 186 | B
20 6 M8x1.25 M22x1.5 7 23 1" 30 8 16 22 27 | 28,5 12 29 G1/8 8 175 | 6
25 6 M10x1.25 M22x1.5 7 28 1 30 8 16 22 27 | 28,5 17 29 G1/8 10 | 175 | 8
MSND
MSNCD M
M Gl
L L 2.X G2 i
J
-y — >
/ D S
—  \
M ai— - e (o
J
T G2 61
H C G C H T
B I A1+{T#E (Stroke) I B+{T#E (Stroke) -
A+{T7FE (Stroke) x2
B1+17#2(Srtoke)+ 1] #4172 (Adjusted stroke)
MSNJ B1+7[47#2 (Adjusted stroke|)
MSNCJ
L
M Gl 2-X G2 M
>
Y P 2
. - i =<
+ > 1 | C\ _ _<\ _ | I~
\J N 1P % W, l ~
N2 ) I | =<
J B B J
T G2 |Gl
H C G
T B g
B 1 Al1+1TH#E (Stroke) I
A2+47FE (Stroke) x2+7] 172 (Adjusted stroke)

RO B REE X7 R i A AR




MSN 7% <L / MSN Series cylinder

IRTH% / Dimension sheet

= 0T
BE/RS | A a1 | A2 |B| B | Cc|D|G |G| H |1 |J K L M| T | Tl |V X
Bore/Symbol
8 102 | 46 | 1005 | 16 | 145] 93 | - | 10 | 55| 12 | 12 | 6 | M4x0.7 | M12x125 | 6 | 7 | 17 | 4 | M5x0.8
10 102 | 46 | 1005 |16 | 145 ] 93 | - | 10 | 55 | 12 | 12 | 6 | M4x0.7 | M12x125 | 6 | 7 | 17 | 4 | M5x0.8
12 126 | 50 | 126 |21| 21 | 14 | 5| 10 | 6 | 16 | 17 | 5 M6x1 M16x1.5 | 6 | 10 | 24 | 6 | M5x0.8
16 129 | 55 | 129 |21] 21 | 13 |5 |105| 6 | 16 | 16 | 5 M6x1 M16x1.5 | 6 | 10 | 24 | 6 | M5x0.8
20 150 | 64 | 150 |27 | 25 | 145 |6 | 14 | 7.5 | 20 | 16 | 6 | M8x125 | M22x15 | 7 | 12 | 29 | 8 G1/8
25 166 | 66 | 165 |28 | 27 | 185 |8 | 15 | 8 | 22 | 22 | 6 | M8x125 | M22x15 | 7 | 17 | 29 | 10| G1/8
6E /e
BB 3p Bora/Symbel | B | C | BB | BC | BE | BF | BP | F
.~
ﬁ 2-0 i 8 28 |46 | 3 | 22 | 40 | 30 | 45 | 12
g 4 !
c 1 0 10 28 |46 | 3 | 22 | 40 | 30 | 45 | 12
e AV | NS Iy __(},U
gt N ) m 12 38 |50 | 4 30 52 40 55 | 17
,,,,, —
A 16 38 |56 | 4 30 | 52 | 40 | 55 | 17
C ,_F BF 20 44 (62| 5 | 40 | 86 | 50 | 66 |20
B HIE | BE 25 50 (65| 5 | 40 | 66 | 50 | 66 | 22
B HE/
F AK Boe/ | B | F | AA|AC|AE | AF |AH|AK | AL | AP|AQ | AT
4}']¢ 777777777 Symbol
e T Eg ) 8 28 |12 | 78 |68 [35|25[16 |10 |11 |45| 5 | 3
[HR = N [l
LJ@ RS T 10 [28[12] 78 [68[35|25|16 10|11 [45] 5|3
= | | < 12 38 |17 | 90 | 78 423220 [ 13|14 55| 6 | 4
< I — 16 38 |17 | 96 |84 |42 32|20 |13 |14 [55| 6 | 4
AL — AF 20 | 4420|112 |96 |54 |40 | 25|20 |17 |66 8 | 5
AQ AC+TEE AE 25 50 | 22 | 11599 | 54 |40 |25 |20 [ 17 [66] 8 | 5
/—10
AA+1TIZ
CA R/
/=10 =
CB+/712 Boe/ |D| Q | CA |CB|CD| CF |CH|CP|ca | CT
Symbol
8 11| 81 | 184 | 76 | 20 | 125 | 24 [45] 131 25
10 |11| 81 | 184 | 76 | 20 | 125 | 24 [45] 131 25
12 |13|121| 28 |91 | 25| 15 | 2755|181 3
16 |13|121| 28 |98 [ 25| 15 |27 [55] 181 3
20 |16[16.1] 38 [115|32| 20 |30 [66|24.1| 4
25 |[16]16.1] 38 [115|32 | 20 |30 |66 |24.1| 4

RO B R ER X 7 R i A AR

NAPC'

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETE

15



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

16

MFJ %S / MFJ Series cylinder

MFJ R FFRRRSEL (JIS)

MFJ Series stainless steel mini cylinder(JIS)

n) MFJ MFT MFJD
=) ) =)
l
MFJ-S MFT-S MFJD-S
A | 1l
‘ g
o e MFJC MFJCD MFJCD-S
1, {56 JIS Rk
2, WHRR A T e The
3, AR RIZEE M, SEMTE; H—)ﬂLr‘
4, TEFIRFEZA RELATFER NPPC A RIBXRTT i
1,JIS standard; MFJCJ MFJJ-S MFJCJ-S
2,with Magnet or without Magnet for option; [ Ty 14 1 14 A ’—FWJ/—‘
3,Rubber buffer and air Buffer for option; 14 7 7
4,Contact NPPC for custom cylinder; LV—{LVJ LV—LLLVJ Liﬂ]}:} ’ H_)ﬂL'J ’
IMFJ Z%5|iTHIRS / MFJ Series ordering code
[MFJ] - | 20 [50 [ - | -] s -JcA] - [LB
Z5IX S /Series code
MFJ £ 5% / Double action type
MFJD WidHE #A! / Double-shaft double action type
MFEJJ Py IR
Double-shaft and adjustable stroke type
MFJC S 57L& %A / With cushion type
W S whig B
MFJCD Mini cylinder(double rod with cushion
MEJCJ WS T ALE B
Mini cylinder(adjustable stroke with cushion)
MFS BERE A / Mini cylinder(single acting-push)
MFT EEH5| NE / Mini cylinder(single acting-pull)

#I12 / Cylinder bore

1732 /Stroke
20 1---500
25 1---600
32 1---600
40 1---600

aJiAAFE / Adjustable stroke type

0--100

AR S / Magnet code

Z=H / Blank

#RfERL / Without magnet

S

M EFIF / With magnet

FEARK / Back cover type

CA 2R / Fishtail type
CM [FEE#! / Rounded type
U SEE#! / Horizontal type
E &K /Fixed type

Z=H /Blank

E KA/ Normal type

LB BIEEIEA! / Front and back fixed type
FA BIEEIE AL / Front cover fixed type
SbB J5 52123 | Back cover swinging type
TC e EIEARA / Back cover fixed type

RO B REE X7 R i A AR



MFJ %S / MFJ Series cylinder

-

9 10 N

FS | B = | B
1213 14 15 16 0. |Designation NO. |Designation
SEZEAT /Piston rod 9 TERNE /Stainless steel Barrel

JEZEATIZE /Piston rod nut |10
BIE= % $1[ /Front cover seal |11

SEZEATEEIE /Piston rod O-ring
J&ZE 0% /Piston p-O-ring

ZA85H /General data

&
m\lm(ﬂhw’\)az

& 3h4h% /Bearing 12 |#4sk (AT%E) /Magnet(Optional)
A7 A2 /Hexagon screw (13 |TiHEEEE /Wear ring

Bz /Front cover 14 |7&ZE /Piston

& /Cushion ring 15 | MI7NFiR#E /Hex socket screw
B2 04 /O-ring 16 |G /Back cover

HIZ / Bore (mm) 20 \ 25 | 32 40
T &/ /Working medium =5 /Air

ZH{ERIR /Motion pattern

SRk #57E /Double action or single action

{RIEMIE 17 /Ensured pressure resistance

1.5MPa(15.3kgf/lcm?)

= 1EF & /1 /Max.pressure

1.0MPa(10.2kgf/cm?)

(K EMAE S /Min.pressure

£5)& /Double action: 0.05MPa(0.5kgf/cm? Bx)A /Single action:0.1MPa(1kgf/cm?)

IMEFNFAEE /Environment and fluid temp

-20 ~ 80°C (MEMIFEL: = 60°C) / Internal Magnet type temp Max: 60°C

SEZERE /Speed Range

£z1% /Double action: 50 ~ 800mm/s #zhR /Single action: 30 ~ 800mm/s

#24 /Buffering

#BEEH (FRfE) Rubber bufer(Standard), S48 (f£i%) Air buffer(Option)

& 12 /Pipe size G1/8 G1/4
.
W M 2-X
Gl Gl
7/ T [T— AN
|
-~ |
v 1/ S~——
E F F G Q
T1 C B A+1TFE(Stroke) D s
A2+4THE(Stroke)
Gl Gl
—
F D1 B F
Al+ﬁ$%(Stroke) A3+4TF2(Stroke)

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

17



NRPRC

PNEUMATIC

MFJ %I / MFJ Series cylinder

| R~t% / Dimension sheet

.
P4
Z
2 5z /55 F G G1 H J
T (=
g Bore/Symbol A A1l A2 A3 B (03 D D1 B U "E U IR,
8 20 62 116 124 103 14 27 21 13 5 14.5 14.5 12 7.5 7.5 15.5 5
E 25 62 120 128 108 14 31 21 13 515 158 14.5 12 8 7.5 19.5 6
5 32 64 122 136 110 14 31 27 13 55 15.5 14.5 15 8 7.5 19.5 6
2 40 88 154 165 138.5 16 34 27 16 7 22 21.5 15 1.5 1" 21 8
a
2
w
&R/ S
Bore/Symbol K L L1 M P P1 Q S T T1 X V
20 M8x1.25 M20x1.5 20 8 ®29 »8 12 25 13 26 G1/8 »8
25 M10x1.25 M26x1.5 26 8 ®33.5 »8 12 30 17 32 G1/8 »10
32 M10x1.25 M26x1.5 26 8 »37.5 »10 20 345 17 32 G1/8 12
#* 40 M14x1.5 M32x2.0 32 10 D46.5 ®10 20 425 19 41 G1/4 »16
I
bl
m
£
=
MFJD
MFJCD
M Gl
2-X
J = J_
>
—/ © —
j
TEE el —— s
- _/
H H
B:A F
C B A+17F2(Stroke) B C+17F£(Stroke) Tl
A1+1TFE(Stroke)x2
MFJJ
MFJCJ M Gl 2-X
2-X
J
B n
A R O — . <
] Ru
J
H
E F F M
C B A+4THE(Stroke) B
C1+7] 17 #2(AStroke)
C1+4THE(Stroke)+ ] 1T FE(AStroke)
A2+4TF4(Stroke) x 2+ 1] 4T FE(AStroke)

A AR 8 M AR
18



MFJ Z %S # / MFJ Series cylinder

I R~F% / Dimension sheet

BE/HS Al a1 A2 | Bl clct| E|F |G| H|ulul K L M| P | S |T|TH| X |V
Bore/Symbol
20 62 | 144 [ 141 ] 14 | 27 |24 14575 [155| 5 | 5| M8x125 | M20x1.5 | 8 | 29 | 25 |13 |26 | G1/8 | 8
25 62 152148 | 14 | 31 [27 | 55 [145] 75 [195] 6 | 6 | M10x1.25 | M26x1.5 | 8 | 335 | 30 |17 | 32| G1/8 | 10
32 64 | 154 | 150 | 14 | 31 [27 | 55 [ 145] 75 [195] 6 | 6 | M10x1.25 | M26x1.5 | 8 | 37.5 |345|17 | 32| G1/8 | 12
40 88188182 | 16 | 34 [28| 7 [215] 11 [ 21 [ 8 [ 7] M14x1.5 | M32x2.0 | 10 | 465 [425] 19 [ 41 | G1/4 | 16
3
et
Ll
AR
AT Do
VRN WA=
]
1.
D 75 0T
H{I/ﬁ?
Bore/ | A |A2 | AA| B | C | D |DDb| F | G
Symbol
20 62 | 124 | 60 | 75 | 34 | 21 | 7 4 -
25 62 | 128 | 60 | 75 | 40 | 21 | 7 4 -
32 64 | 136 | 60 | 75 | 40 | 27 | 7 4 -
40 88 | 165 | 66 | 82 | 52 | 27 | 7 5 | 36
A1+712
A+T712 D1 .
12 e e
A|Al|AA|IB|C|D|D1|E|F|G|H| J
Bore/Symbol
- 20 62 116 | 7 | 3]20| 8 | 13 |55]40| 25 |40 118
25 62 120 7 |3 ]20| 8 | 13 | 55[40]| 28 [47 | 118
- 32 64 122 7 [ 3]20| 8 | 13 | 55|40 28 |47 120
40 88 154 | 7 |3 [23|10] 16 | 75|55| 30 |54 | 154
m I
7z
A2+ ﬁlf:n/ #F
A+{T12 G| L B;e/AAZAABCDEFGG1HKJLM
Symbol
u 20 |62| 115 |59 [30]32|18.1|30|40[12]12.1| 8 |3|6.8|37]15
2-0J, | ‘ 25 |62] 119 |59 [30] 32 |18.1|30|40[12]121| 8 [3|6.8|37[15
pamma —
‘ \&AA | M 32 |64|124 |75 |40 44 | 28.1 |40 |53[15/20.1|10|4| 9 |50|15
40 |88 153 | 75 |40 |44 | 28.1 |40 |53|15|20.1|10|4| 9 50|15

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

19



NRPRC

PNEUMATIC

MSA %35SI / MSA Series cylinder

MSA R 5 R EENE RSEL
MSA Series stainless steel mini cylinder

=
P4
L
P4
o]
: 1
3 MSA MSAS MSAT MSAD
o Dﬂ ] ] —HE
g . \‘W \ \‘ \‘ 1 ‘\
e
2 ’) SCA|
3 “ NI MSA-S MSAS-S MSAT-S MSAD-S
=) R \\ 8 [ Jm‘ [ 1
= = ) 1 \
> | e E = | Dﬂﬂ ‘M;; Ay} - -
MSAC MSAC-S MSACD MSACD-S
1.NPPC it ; [ 1% [ % [ i | [ |
2, R AR Ar ] ]
3, iERRIRERER, SEMAIE;
4, TEFIMFEEF RELATFER NPPC A RIBXRITH MSAC. MSAJ MSAJ-S MSACJ-S
;:\,/\lvrt)}fl\c/l;;il?irrdv&nhoutMagnetforoption; [ i ‘/ﬂy [ 1 ‘/AV L ‘//iy [ ‘/AV
++ 3,Rubber buffer and air Buffer for option; “ A “ “ L “ “ Y “ “ Al “
E 4,Contact NPPC for custom cylinder;
@
£ [JJVSA RZUITHEES / MSA Series ordering code
[MSA| - |[20] - [50 ] - | - | s |- lcA|l - |LB

ZFRS /Series code

MSA £ 13 / Double action type

MSAD WisE 5 E! / Double-shaft double action type
SE A

veay | REEIA

Double-shaft and adjustable stroke type
MSAC S04 HA! | With cushion type
WS SN E AR

MSACD Mini cylinder(double rod with cushion
MsSAC) | & 4 5 = 77 I £& 4 & / Mini cylinder(adjustable stroke with

cushion)
MSAS BEpIRH A / Mini cylinder(single acting-push)
MSAT #7575 NE! / Mini cylinder(single acting-pull)

£I112 / Cylinder bore

1T#2 /Stroke
16 1---200
20 1---300
25 1---500
32 1---500
40 1---500

A[FAFE / Adjustable stroke type
0--100

#AKS / Magnet code

z=H / Blank FRER / Without magnet

S RERIF / With magnet
EER5 / Back cover type

CA $2EA! / Fishtail type

CM [FEE#! / Rounded type

U SEER! / Horizontal type

ElE & /Fixed type

Z=H /Blank E AR / Normal type

LB BI/EEESL / Front and back fixed type
FA BIE=EIEAL / Front cover fixed type
SbB 53512128 | Back cover swinging type
TC G BIERA! / Back cover fixed type

A AR 8 M AR
20



MSA Z%5 L / MSA Series cylinder

3 45 6 7 8

9 10

I ZA3H /General data

1M 121314 15 FS &R S | B
NO. |Designation NO. |Designation
1 SEEATIER /Piston rod nut |9 SEE /Piston
2 SEEH /Piston rod 10 |3&5&2E 04 /Piston O-ring
3 R %3 /Front cover seal |11 |Higk (FIi£) /Magnet(Optional)
- |4 2 5h%h7& /Bearing 12 |MEEEF /Wear ring
5 BIZEM2H /Front cover nut |13 |ZEHZE £} /Cushion ring
6 Bz /Front cover 14 | A7 g4 /Hex socket screw
7 TEENE /Barrel 15 |53 /Back cover
8 B /Anti-crash cushion

112 / Bore (mm)

16 \ 20 \

\ 32 40

TE/ B /Working medium

=5 /Air

ZHERIR /Motion pattern

SRl B 1A /Double action or single action

{RIEM & 71 /Ensured pressure resistance

15.3kgf/cm2(1.5MPa)

&= # £ 71 /Max.pressure

10.2kgflcm2(1.0MPa)

HIXfERME S /Min.pressure

0.5kgf/cm2(0.05MPa) 1kgf/cm2(0.1MPa)

IREFR AR E /Environment and fluid temp

-20 ~ 80°C (NE#ME!: H& 60°C) /Internal Magnet type temp Max: 60°C

SEEIRE /Speed Range

50 ~ 750mm/s

224 /Buffering #BEEH (FR8) Rubber buffer(Standard), S48 ({E3£) Air buffer(Option)
EER R / Fixed type E &R /Normal type LB & /Type FA %! /Type SDB %! /Type U ! /Type
&0 /Pipe size M5x0.8 | G1/8
A+4TF2 (Stroke)
B C+1T#2 (Stroke) D
AY E F G G S
1 H _AR |G 2.X GI| R
J >
8 .
7N\ SEIEIP - -
([N T 3 s ol o
\SZ/ b N7 \J 8
N/ O | N
W — \ oP
AT+{TFE (Stroke) Al+17FE (Stroke)
C+{THE (Stroke) D1 C+17H# (Stroke)_
G G
Gl Gl
> X = _
S ©®| |- S ®

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

21



NRPRC

PNEUMATIC

MSA 2355 MSA Series cylinder

| =<+% / Dimension sheet

z 5112/ %52  Bore/Symbol A A1 B c D D1 E F G G1 H | L
3 16 114 98 38 60 16 16 22 16 10 5 16 10 5
% 20 137 116 40 76 21 12 28 12 16 8 20 12 6
o 25 141 120 44 76 21 14 30 14 16 8 22 17 6
E 32 147 120 44 76 27 14 30 14 16 8 22 17 6
= 40 149 122 46 76 27 14 32 14 167 | 835 24 17 7
S
<
a
2
w
5112 / 2  Bore/Symbol K L P Q R s U v w X AR | AX | Ay
16 M6x1 M16x1.5 6 12 14 9 21 6 5 | M5x08| 6 25 22
20 M8x1.25 M22x1.5 8 16 19 12 27 8 6 1/8 7 33 29
25 M10x1.25 | M22x1.5 8 16 19 12 30 10 8 1/8 7 33 29
32 M10x125 | M24x2.0 10 16 25 15 35 12 10 1/8 8 37 32
40 M12x125 | M30x2.0 12 20 25 15 | 416 | 16 14 1/8 9 47 41
e
I
i
I
&
=
MSAD
MSACD A+{T#2 (Stroke) x2
B C+{7H2 (Stroke) B+{7#2 (Stroke)
AY E F G G F
I H AR Gl 2-X Gl AR H
(7N\ H | ] H
([N N D) o =
&) © O
NG = / L] || -
M — L/
MSAJ
MSACJ A1+47#E (Stroke) x 247172 (Adjusted stroke)
B C+{7#% (Stroke)
AY E F G G F
f I}I AR Gl 2618 Gl AR J
LTSN (] -
- —\
122\ - | =)
©)) oot (elHEE &Kt

T+{7F2 (Stroke)

| =~ / Dimension sheet

HE /S

Bore/ A|A1| B | C E 7 G H | J K L M U vV | W X AR | AX | AY

Symbol
16 136|135| 38 | 60 | 22 | 16 | 10 | 16 | 10 | 5 M6x1 M16x1.5 | 14 | 21 6 5 | M5x0.8 | 6 | 25 | 22
20 156|153 | 40 | 76 | 28 | 12 | 16 | 20 | 12 | 6 M8x1.25 M22x1.5 | 10 | 27 8 6 1/8 7 | 33| 29
25 164 | 161| 44 | 76 | 30 | 14 | 16 | 22 | 17 | 6 | M10x1.25 | M22x1.5 | 12 | 30 | 10 | 8 1/8 7 | 33|29
32 164 | 161 | 44 | 76 | 30 | 14 | 16 | 22 | 17 | 6 | M10x1.25 | M24x2.0 | 12 | 35 | 12 | 10 1/8 8 | 37 | 32
40 168 | 164 | 46 | 76 | 32 | 14 |16.7 | 24 | 17 | 7 | M12x1.25 | M30x2.0 | 12 | 416 | 16 | 14 1/8 9 | 47 | M1

A AR 8 M AR
22



MSA %754 / MSA Series cylinder

BC

=32
C+i712 BC 2-®BP B | 4-®BP
""" T T G‘ d
- T i
fFe==bd T T L TR
- I [ A\H Lu
RO o S Co ‘ | oM m mm
- ooy !
| !
T f
d16~P25 D32~d40
g/ 6 c C(MSA)
B BB BC BD BE BF BP F
Bore/Symbol (MA) 0~5 51~100 | 101~150
16 38 60 85 110 3 26 - 52 40 5.5 16
20 40 76 101 126 151 4 38 - 64 50 6.5 12
25 44 76 101 126 151 4 38 - 64 50 6.5 14
32 44 76 101 126 151 4 47 33 72 58 6.5 14
40 46 96 101 126 151 4 50 36 84 70 6.5 14
SDB ‘ CB+712 D
| =S
P o W L Sl
1 L T S
4-@CP L 43
L e I e S e I
Q =
o
N HI HI
| . CF ]
CD
HRZ /5 CB CB(MSA)
D S Q CA CD CE CF CH CT CP cQ
Bore/Symbol (MA) | 0~50 | 51~100 | 101~150
16 16 9 12 - 107 132 157 - 23 - 12 20 2 5.5 16
20 21 12 16 51 128 153 178 203 48 67 32 32 3 6.5 22
25 21 12 16 51 132 157 178 207 48 67 32 32 3 6.5 22
32 27 15 16 51 135 160 182 210 52 67 36 36 4 6.5 24
40 27 15 20 55 137 162 187 212 56 71 40 40 4 6.5 28
/J— 10
AC+{T12
=10
AA+1TIE

HE /S AA Cusa) AC HEZ/ %S ACvsn)

Bore/Symbol & o (MAL) | 0 ~ 50 |51 ~ 100| 101 ~ 150 AB (MA) Bore/Symbol [0~ 50(51 ~ 100{101 ~ 150 AE | AF | AL1AQ| AP AT | AH
16 38 | 16 | 98 123 148 - 25 86 16 111 136 - 44 132|113 | 6 5.5 3120
20 40 | 12 | 122 | 147 172 197 25 106 20 131 156 181 54 |40 15| 8 6.5 3|25
25 44 | 14 | 122 | 147 172 197 29 106 25 131 156 181 54 14015 8 6.5 3|25
32 44 | 14 | 142 | 167 192 217 19 126 32 151 176 201 59 |45 25| 8 6.5 4 | 32
40 46 | 14 | 142 | 167 192 217 21 126 40 151 176 201 64 | 50|25 8 6.5 4 | 36

RO B R ER X 7 R i A AR

NAPC'

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETE

23



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

24

MAL %S / MAL Series cylinder

MAL #7185 &R R<EL
MALSeries aluminum alloy mini cylinder

-8

D

1.NPPC iR , RARE SELE;

2, HHMAE
3, tRERI R IRER

i
g, SEMANE;

4, eFRAE R <HEFR NPPC ARIBERITH
1,NPPC standard. Aluminum barrel;

2, Magnet and No Magnet for option;

3, Rubber buffer and Air buffer for option;
4,Contact NPPC for custom cylinder;

B

I MAL Z7%iT8 / MAL Series ordering code

[ MAL

- [ 20

- [ca] - LB

Z5{XS /Series code

MAL

512! / Double action type

MALD

WidE sHA! / Double-shaft double action type

MALJ

WA AR / Double-shaft and adjustable stroke type

MSAL

EERE A / Mini cylinder(single acting-push)

MTAL

B3| AR/ Mini cylinder(single acting-pull)

£I12 / Cylinder bore

1742 /Stroke

20

1---300

25

1---500

32

1---500

40

1---500

AIFRIFE / Adjustable stroke type

0--100

AR S / Magnet code

ZH / Blank

#rfER! / Without magnet

S

AME#IF / With magnet

fEE=2I / Back cover type

CA

$2REA! / Fishtail type

CM

[EZZE / Rounded type

u

SEE#! / Horizontal type

ElE& R /Fixed type

Z=H /Blank

£ A / Normal type

LB

BIEEEA! / Front and back fixed type

FA

Bz [EE R / Front cover fixed type

SDB

Ja == 2128 | Back cover swinging type

IR tiniay

7 9 10
1

8
_\\

1"

12 13 14

!
1

15

Y
.Oq1u

B

Designation

B

Designation

SEZEATIZE / Piston rod nut

J&3E / Piston

JEZEAT / Piston rod

J&EIEZE 04 / Piston O-ring

Hiz=%531M / Front cover seal

Fisk (ATiE) / Magnet(Optional)

& ih§h& / Bearing

it B3R | Wear ring

AIE542E} / Front cover nut

4E M FI[E / Cushion ring

Hiz / Front cover

A7~ FIZH / Hex socket screw

48 / Aluminum Barrel

&3 / Back cover

o[~N[o[a[s[w[N][=Tz

B73ERF / Anti-crash cushion

RO B REE X7 R i A AR




MAL Z 5T / MAL Series cylinder

I Z &5 H /General data

HI12 / Bore (mm)

16 \ 20 \ 25 \ 32 40

T &/ R /Working medium

=5 /Air

Z{ERIR /Motion pattern

SxnBsl B EhA /Double action or single action

{RIEME J1 /Ensured pressure resistance

15.3kgflcm2(1.5MPa)

=1 E 71 /Max.pressure

10.2kgf/lcm2(1.0MPa)

&K BERE S /Min.pressure

0.5kgflcm2(0.05MPa) 1kgf/cm2(0.1MPa)

BB E /Environment and fluid temp

20 ~ 80°C (NEHIFEL: & 60°C) / Internal Magnet type temp Max: 60°C

JEEIRE /Speed Range

50 ~ 750mm/s

#2h /Buffering

IR () Rubber bufer(Standard), S48 ({Ei%) Air buffer(Option)

BEERT / Fixed type

F AR / Normal type LB B!/ Type FA #! /Type SDB #!/ Type

& 01Z /Pipe size M5x0.8 \ G1/8 | G1/4
MAL-CA
A+{TFE (Stroke)
AY B C+{T#2 (Stroke) D
E F G G s Q
I H AR | Gi 2X G G P
J p C
% % iIgsin |
+ | ¢ — H — \/ 1 — — — J - 8 +
/ ] | |
w_“ov /
MAL-CM A1+1T#2 (Stroke) MAL-U A2+1THE (Stroke)
e E— —_——————————————————
C+17#2 (Stroke) C+47F2 (Stroke)
D1 G
G G1
G1 R1
> S
-8
I R~t% / Dimension sheet
e
G/ FS A A A2 B c D D1 E F G G1 H| 1| J K
Bore/Symbol
16 105 90 90 38 52 15 12 24 14 11 55 | 16 | 10 | 5 M6x1
20 131 122 | 110 44 70 21 12 28 12 16 8 20 | 12| 6 M8x1.25
25 135 | 128 | 114 44 70 21 14 30 14 16 8 2 17 | 6 M10x1.25
32 141 128 | 114 a4 70 27 14 30 14 16 8 2 |17 | 6 M10x1.25
40 165 | 152 | 138 46 92 27 14 32 14 22 11 24 |17 | 7 M12x1.25
7 I
B/ RS L P Q R R1 s U Vv W X AR AX AY
Bore/Symbol
16 M16x1.5 6 12 17 10 6 21 6 5 M5x0.8 | 6 27.8 24
20 M22x1.5 8 16 19 10 12 29 8 6 G1/8 7 33 29
25 M22x1.5 8 16 19 12 12 34 10 8 G1/8 7 33 29
32 M24x2.0 10 16 25 12 15 39.5 12 10 G1/8 8 37 32
40 M30x2.0 12 20 25 12 15 495 16 14 G1/4 8 47 41

RO B R ER X 7 R i A AR

NAPC'

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETE

25



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

T BETS

26

MAL Z 7SI / MAL Series cylinder

MALD
A+{THE (Stroke) x2
B C+{THE (Stroke) B+{T#E (Stroke)
AY E F 4 4 F H
| H AR | Gi 2X Gi
J ‘ ~] | J
\§ [:I 2
YT % B v [N B s
W =
MALJ
A1+TFE (Stroke) x2+W[ 472 (Adjusted Stroke)
B C+{7F¢ (Stroke)
AY E F G G F T+{7#2(Stroke)+ [ i {72 (AStroke
| H AR G1 2-X G1
, J — e H J
; § — —?_T [:H M (IX,I_\
-+ é | |- — \/ 777777%7 4»5 - -+ —1
O/ _5—1 | e
w — - T+ {7 FE(AStroke)
| R~t% / Dimension sheet
s
BE/HS | A A Blc|E|F| G |et| H |1 K L Tl uUu | Vv |w|l X |AR|AX| AY
Bore/Symbol
16 128 | 125 | 38 | 52 | 24 | 14| 11 | 55| 16 | 10| 5 | Mex1 | M16x15 | 21 | 21 | 6 | 5 | M5x0.8 | 6 |27.8| 24
20 150 | 147 | 40 | 70 | 28 |12 | 16 | 8 | 20 | 12| 6 | M8x1.25 | M22x1.5 | 25 | 20 | 8 | 6 | G1/8 | 7 | 33 | 29
25 158 | 155 | 44 | 70 | 30 | 14 | 16 | 8 | 22 | 17| 6 | M10x1.25 | M22x1.5 | 27 | 34 | 10 | 8 | G1/8 | 7 | 33 | 29
32 158 | 155 | 44 | 70 | 30 | 14 | 16 | 8 | 22 | 17 | 6 | M10x1.25 | M24x2.0 | 27 |39.5| 12 | 10| G1/8 | 8 | 37 | 32
40 184 | 180 | 46 | 92 | 32 | 14| 22 | 11 | 24 | 17| 7 | M12x1.25 | M24x2.0 | 28 | 49.5| 16 | 14| G1/4 | 9 | 47 | 41
B
BC 2-0BP B i osp
: D
& 3K
u_UJ w w
Eﬂm o o) ===
AL
i olo Y s
©20~025 ©32~Da0 AA+{TIE
Z = 112 / 5 AA Cumsan) AC
E1Z / 755 © Cmsay i B | F AB
Bore/SymboI B o e e Eo=rs B|BC |BD |[BE|BF |BP | F Bore/SymboI (MAL) |0 ~ 50|51 ~ 100|101 ~ 150 (MAL)
20 40/70 95| 120 | 145 | 4 |38 | - 6450 65|12 20 40 | 12 | 116 | 141 | 166 | 191 | 25 | 100
25 4470 95| 120 | 145 | 4 | 38| - |64 5065 |14 25 A4 AT PN 6T 4| 66T R 91| 297 F1 00
32 4470| 95| 120 | 145 | 4 | 47 |33 |72|58 |65 |14 32 44 | 14 | 136 | 161 | 186 | 211 | 19 | 120
40 4692 |117| 142 | 167 | 4 | 50 | 36 |84 |70|6.5 |14 40 4617|147 1367| 831|208 1 [FH283 1 211|142
e
i1/ HS ACwsA) AE | AF | AL |AQ| AP | AT | AH
Bore/Symbol | 0~50 |51~100 | 101~150
20 125 | 150 | 175 | 54 | 40| 15| 8 |65 3 | 25
25 125 | 150 | 175 | 54 | 40| 15| 8 | 65| 3 | 25
32 145 | 170 | 195 | 59 | 45| 25| 8 | 6.5 4 | 32
240 167 | 192 | 217 | 64 |50 | 25| 8 | 65| 4 | 36
cB+{312 52/ FS CB CBisa)
Bore/Symbol o e @ (MAL) | 0~50 | 51~100 | 101~150 €9 (G3)(e1= (G (Gr) (@1 e
20 21]12|16| 51| 122|147 | 172 | 197 |48 |67 | 32|32 | 3 |6.5] 22
25 21]12]16| 51| 126|151 | 176 | 201 | 48 | 67 | 32|32 | 3 |6.5] 22
32 27|15|16| 51| 129|154 | 179 | 204 |52 | 67 | 36| 36 | 4 |6.5| 24
40 27]15]20] 55 | 153|178 | 203 | 228 | 56 | 71|40 40 | 4 |6.5] 28

RO B REE X7 R i A AR




NPPC’

CYLINDER

FSC63-175-S

Pressur.:0.05~-1.0Moa

~ FS180-100

Pressur..0.05~1.0Mpa




NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

28

FDC Z%|S4L / FDC Series cylinder

FDC &7%IS{L (ISO 15552)
FDC Series cylinder(ISO 15552)

PONS BONS

,1IS015552,VDMA24562 #RfE S5 ;
RERANY B, BEAMNIRE, H6HK;
FHREIRE, FThAT, BIREMERELT;

LRI BT SEN;

1SO15552 and VDMA24562 standard cylinder
The piston seal is composed of two Y-shape one-way seal structure, which has compensation function, long service life and low start-up pressure;
The square aluminum pipe without tie rod has good corrosion resistance;
The buffer adjustment of cylinder is smooth and steady.

IFDC Z7%1T%Y / DNC Series ordering code

FDC FDCD
FDC-S FDCD-S

—

FDCJ

==y

FDCJ-S

= =i

[FDC| - | 63

ZF{R S /Series code

FDC

£ 578 / Double action type

FDCD |M4hEzhA! / Double-shaft double action type
FDCJ |M4#ATEA! / Double-shaft and adjustable stroke type

£I12 / Cylinder bore
1772 /Stroke

32 1---1000
40 1---1200
50 1---1200
63 1---1500
80 1---1500
100 1---1500
125 1---1500

AIARIFE / Adjustable stroke type

0--100

AN S / Magnet code

%1 / Blank

¥R / Without magnet

S

REBR4IF / With magnet

ElE &R /Fixed type

Z 8 /Blank

£ A& / Normal type

LB

BifEEIEEL / Front and back fixed type

FA BiEEER (A% / Front cover fixed type (Front flange type)
FB FEREER (J53%2) /Back cover fixed type(Back flange type)
CA EEREER (BHIF) /Back cover fixed type(Single earring)
CB FEEER (WHEIR) /Back cover fixed type(Double earring)
CR fEE= #2428 | Back cover swinging type

RO B REE X7 R i A AR



FDC %S #I / FDC Series cylinder

FS | &R FS |B#R
1 2 3 4 5 6 8 9 10 1 12 13 14 15 NO. |Designation NO. Designation
1 TERETIREG 10 Hisk (AIE)
Piston rod nut Magnet(Optional)
2 TRIEHT 11 (1328
Piston rod Wear ring
3 BIEEHE 12 HIFE
Front cover seal Barrel
4 oy LTS 13 SEE /Piston
Bearing
////’/////’ / Hi# /Front cover R IR
“\\\\\‘ // 5 14 | Cushion seal
FhEREE ZomiATIS
‘—H— ] = ’/I>/>f‘/\/////// 9 Cushion ring 15 Cushion needle
WM’W "'W% , |EZ0% 6 |EE
| v VRO ; O-Ring Back cover
A'&m\‘m‘ﬁ\\\\\\\‘&. . SEEAEEE AARIER
8 |Pistion rod| 17 |Hexsocketscrew
0-Ring
o |EE0% 5 |PEEERE
Piston O-ring Profile bolt
I s45% /General data
EI2 / Bore (mm) 32 40 | 50 | 63 80 100 125
TAEA B /Working medium =5 /Air
FERIR /Motion pattern S nhAls B EHAE /Double action or single action
B & FDC FA FB CA CB LB SDB
FDCD
¥ FDCJ FA LB TC

{RIEMH & 71 /Ensured pressure resistance

15.3kgflcm2(1.5MPa)

&=f# A E 7 /Max.pressure

10.2kgf/cm2(1.0MPa)

SIREAES /Min.pressure

0. 5kgf/cm2(0 05MPa) 1kgf/cm2(0.1MPa)

IREFRAERE /Environment and fluid temp

-20 ~ 80°C (NERIFE:

= 60°C) / Internal Magnet type temp Max: 60°C

JEEIRE /Speed Range 50 ~ 750mm/s

224 /Buffering S L& /Air buffer

Z2r 77 /Buffering stroke 27 \ 30 36 40

EEO1R /Pipe size G1/8 G1/4 | G3/8 G1/2

J 752/
12 / Bore size FrifE4T#2 / Standard Stroke foj(S{tTrzie Strofgfgreiince

32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 1800
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 1800
50 1200 2000
63 1500 2000
80 25 50 75 80 100 125 150 160 175 g%(())0 1%%(()) 300 350 400 450 500 600 700 800 1500 2000
100 1500 2000
125 1500 2000

RO B R ER X 7 R i A AR

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

29



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

T BETS

30

FDC %% L/ FDC Series cylinder

L,
A+17#E (Stroke)
=
B C+47#E (Stroke) X
E F G 2—Cushion G
H
+ +
J ; = =
\ A iz _ _ N n| &= ]
[ ] \ =9 =9 @ S Ol d
L + lll +
W |
4 Sides Z Q Q Z 8-L I
I R~t% / Dimension sheet
T /) o
HE/HS A lg|c|p|e|F|le|Hli|ly] kK |L|N|]O|P|la@|R|s|T|V | w| x|z
Bore/Symbol
32 142 48 | 94 | 30 | 29 | 19 |275] 22| 17| 6 |M10x1.25| M6 |135|G1/8 58| 6 | 6.3 [46.5/325] 12 10| 3 |30
40 159 | 54 [105| 35 | 33 | 21 | 32 [ 24| 17| 7 |mM12x1.25| M6 |175|G1/4| 6 | 55| 9 | 54 | 38 | 16 |13 |3.5] 35
50 175| 69 [106| 40 | 42 | 27 | 31 [32]23| 8 | M16x15 | M8 | 14 |G1/4| 8 | 5 |105| 64 |46.5| 20 |17 | 3.5 | 40
63 190 | 69 [121| 45 | 42 | 27 | 33 [ 32|23 | 8 | M16x15 | M8 | 17 |G3/8| 8 | 6 |105| 75 |56.5| 20 |17 | 4 | 45
80 214 | 86 |128| 45 | 53 | 33 | 33 |40 |26 | 10 | M20x1.5 |M10|16.55|G3/8 | 8 | 85 |125] 93 | 72 | 25 | 22| 4 |45
100 229| 91 |138] 55 | 55 | 36 | 37 |40 |26 | 10 | M20x1.5 |M10[195|G1/2 10| 7 | 12 [110| 89 | 25 | 22| 4 |55
125 279|119 160| 65 | 74 | 45 | 46 | 54 | 41 [135| M27x2.0 |[M12| 23 |G1/2 | 11| 12 | 11 [134[110| 32 | 27| 4 |60
FDCD A+1THE(Stroke) x 2
B C+17#2(Stroke) B+17#(Stroke)
E _
E+/7#(Stroke
e © O O
m m
= L w
3 ® 5
FDCJ A1+47#(Stroke) x 2+ AT (AStroke)
B C+{7#(Stroke) Z+17F2(Stroke)+m{TFE(AStroke)
I I Z+7 17 F2(AStrgke)
8 @ O
- 1 _ - _ g _
O ©
B2/ 55
Bore/ A A1 B | C|E| z J K
Symbol
32 190 | 188 | 48 | 94 | 29 | 27 6 M10x1.25
40 213 | 208 | 54 | 105 | 33 | 28 7 M12x1.25 3 _
50 244 | 231 | 69 | 106 | 42 | 29 | 8 M16x1.5 f'ﬁmiﬂfﬁfﬁ FDC #RiER1ER
ote:
63 259 246 69 121 42 29 8 M16x1.5 The unmarked dimension is the same as FDC standard type
80 300 | 2825 | 86 | 128 | 53 | 355 | 10 M20x1.5
100 320 | 3005 | 91 | 138 | 55 | 355 | 10 M20x1.5
125 398 | 366.5 | 119 | 160 | 74 | 425 | 135 M27x2.0

RO B REE X7 R i A AR




FSI %S / FSI Series cylinder

FSI &% Sl (ISO 15552)
FSI Series cylinder(ISO 15552)

FSI-S FSID-S

1,1S015552( J& 1S06431) kRt 54T ; =%M
2, RERBNY B, AEIINEE, HHK;

3, RFRUGIH, TR, FHEIMEAELF;
4, £ RGP R SEA;

1. 1ISO15552 (original 1ISO6431) standard cylinder;

2. The piston seal is composed of two Y-shape one-way seal structure, which has compensation function, long service life and low start-up pressure;
3. The K -shaped aluminum pipe without tie rod has good corrosion esistance

4. FSI cylinder with Magnet and air cushion

IFSI Z%IiTHIAL / FSI Series ordering code

s / y“\: / %@ %E

FSIJ

==y

FSIJ-S

= =y

[FsI| - [ 63 ] - [ 50| - -

Z5IX S /Series code

FSI |&xh&!/ Double action type

FSID | M 4hE 5E! / Double-shaft double action type

FSIJ | W 5AA1HR! / Double-shaft and adjustable stroke type

#I12 / Cylinder bore
1T#2 /Stroke

32 1---1000
40 1---1200
50 1---1200
63 1---1500
80 1---1500
100 1---1500
125 1---1500
160 1---1500
200 1---1500

AJFAFE / Adjustable stroke type

0--100

AR S / Magnet code

%= H / Blank FRERL / Without magnet

S RE#ER / With magnet

ElZEA R /Fixed type

[ /Blank | E A / Normal type

LB RI/EEER / Front and back fixed type

FA AIEEER (F13E2) / Front cover fixed type (Front flange type)
FB EEEER (F3%=) /Back cover fixed type(Back flange type)
CA fE=EESR (BHI) /Back cover fixed type(Single earring)
CcB fa=EER (WEI) /Back cover fixed type(Double earring)
CR J5 22128 / Back cover swinging type

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

31



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

32

FSI %S / FSI Series cylinder

FS | &R FS  |&
—— — NO. |Designation NO. |Designation
™ | |EEAES 10 |TEE Piston
Piston rod nut
> TRE 11 (1323
Piston rod Wear ring
n - : 5 |HEEHE o |HE &)
a f Front cover seal Magnet(Optional)
E i RS 13 |BEO0S
I o by - O-Ring Piston p-O-ring
I ko 5 | EHER . |EEOS
h__ Bearing Pipe wall O-Ring
17 6 |HIE 15 |EMRE
1 2 3 4 5 IFL-ELE:! . Front cover Cushion
B { 7 Emik 0% 16 [Shay::Litad
/ _/ \_ \_{ \_ Buffering O-Ring Hex socket screw
6 7 8 9 11 12 13 14 15 16 3 SEEF0S - BE
Pistion rod O-Ring Back cover
9 |EIfF /Barrel
I 5454 /General data
42 / Bore(mm) 32 9 | s0 | e [ s 100 125 160 200

T{E/v &R /Working medium

=5 /Air

zh{ERIZ /Motion pattern

SxnBs; B 1A /Double action or single action

B = FSI FA FB CA CB LB SDB
FSID
2 R ESlJ FA LB TC

{RIEMT £ 71 /Ensured pressure resistance

15.3kgf/cm2(1.5MPa)

= £ 71 /Max.pressure

10.2kgf/cm2(1.0MPa)

K fEME S /Min.pressure

0.5kgf/lcm2(0.05MPa) 1kgf/cm2(0.1MPa)

E AR E /Environment and fluid temp

-20 ~ 80°C (NEMIFE: &= 60°C) / Internal Magnet type temp Max: 60°C

JEZEIRE /Speed Range

50 ~ 750mm/s

£Z% /Buffering

S L& /Air buffer

ZZ 4T HE /Buffering stroke 27 \ 30 | 36 40 50
EEOE /Pipe size G1/8 G1/4 G3/8 [ G112 G3/4

I 17%% / Stroke

A% / Bore size FrifE47#E / Standard Stroke M%st?r o&ke S troﬁeﬁ;::nce
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 1800
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 1800
50 1200 2000
63 1500 2000
80 1500 2000
100 Sgo 5?00705 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1500 2000
125 1500 2000
160 1500 2000
200 1500 2000

RO B REE X7 R i A AR




FSI %S / FSI Series cylinder

A+17FE(Stroke)
B C+{TF2(Stroke) X
E G G
H
J
(X 1@
> o >
8| ¥ S /] o - o S
L/
2-0
N _|Q QN
| R% / Dimension sheet
iz / 75 A B C D E 7 G H | J K L N 0 P Q R S T \ w X Y
Bore/Symbol
32 142 48 | 94 | 30 | 29 |19 275 | 22 |17 6 | M10x1.25| M6 | 13 | G1/8 | 55 | 6 6 47 1325|1210 ] 3 | 30
40 159 | 54 |105| 35 | 33 |21 | 32 | 24 |17 7 |M12x1.25| M6 | 17 |G1/4| 6 |75|85 | 53 | 38 |16 |13 |35 | 35
50 175| 69 | 106 | 40 | 42 |27 | 31 | 32 |23| 8 M16x1.5 | M8 |155|G1/4 | 75 |6.5| 9.5 | 65 |46.5| 20 | 17 | 3.5 | 40
63 190 | 69 |121| 45 | 42 |27 | 33 | 32 |23 | 8 M16x1.5 | M8 |16.5|G3/8 | 7.5 |7.5|11.5| 75 |56.5|20 | 17 | 4 | 45
80 214 86 | 128 | 45 | 53 |33 | 33 | 40 |26 | 10 | M20x1.5 |M10|16.5| G3/8 | 9 |7.5|135| 95 | 72 | 25|22 | 4 | 45
100 229 | 91 |138| 55 | 55 |36 | 37 | 40 |26 | 10 | M20x1.5 |M10|18.5| G1/2 | 9.5 |85|135|115| 89 | 25|22 | 4 | 55
125 2791119160 | 60 | 74 | 45| 46 | 54 |41 |13.5| M27x2.0 |M12| 23 | G1/2| 14 |12 | 14 | 140|110 |32 |27 | 4 | 60
160 332|152 180 | 65 | 94 |58 | 50 | 72 | 55| 18 | M36x2.0 |M16| 25 | G3/4 | 15 | 12| 20 | 180|140 | 40 |36 | 4 | 65
200 347|167 180 | 75 | 100 |67 | 50 | 72 | 55| 18 | M36x2.0 |M16| 25 | G3/4| 15 | 12| 20 | 22017540 |36 | 5 | 75
=0 ﬁ+iﬁi($troke)x 2 _
B C+{7F2(Stroke) B+17##(Stroke)
E
E+{77%(Stroke)
J
— e r—1
| g || _ i mpm
A+1TFE(Stroke)x 2
FSIJ B C+17#2(Stroke) B+17#2(Stroke)
E
E+{7F2(Stroke)
J
|| L C
il @ .
121 5
Bore/Symbol A a B © E z J K
32 190 188 48 94 29 27 6 M10x1.25
40 213 208 54 105 33 28 7 M12x1.25
50 244 231 69 106 42 29 8 M16x1.5 .
iE:
63 259 246 69 121 42 29 8 M16x1.5 FiRE T RT5 FS| kiR <R
80 300 | 2825 | 86 128 53 35.5 10 M20x1.5 Note
100 320 300.5 91 138 55 355 10 M20x1.5 The unmarked dimension is the same as FSI| standard type.
125 398 | 366.5| 119 | 160 | 74 | 425 | 135 | M27x2.0
160 484 458 152 180 94 68 18 M36x2.0
200 514 482 167 180 100 68 18 M36x2.0

RO B R ER X 7 R i A AR

NAPC'

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETE

33



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

34

ESC/FSU %% 5L / FSC/FSU Series cylinder

FSC/FSU &% K EI
FSC/FSU Series cylinder

i FSID-S FSI-S

1,NPPC #RESEL;

2, BERANY B, BEWNIIRE, HFaK,
3,FSC AR, FSU AKFEEFIR;

4, ERVFERESEN, THAIE;

1. Standard cylinder manufacturered by NPPC

2. The piston seal is composed of two Y-shape one-way seal structure, which has compensation function, long service life and low start-up pressure;
3. FSC is round tube with tie-rod . FSU is 3 -shape aluminum tube

4. FSC and FSU with air cushion. Magnet for Optional

IFSC/FSU R5{T4%S /| FSC/FSU Series ordering

[Fsc|] - [ 63 ] - [50] - - | s - [ LB ]

ZFIXS /Series code

FSC/FSU £ 13! / Double action type

FSCD/FSUD |M4h&5hE! / Double-shaft double action type

FSCJ/FSUJ | W4hATIAA! / Double-shaft and adjustable stroke type

£14Z / Cylinder bore

1742 /Stroke
32 1---1000
40 1---1200
50 1---1200
63 1---1500
80 1---2000
100 1---2000
125 1---2000
160 1---2000
200 1---2000
250 1---2000
320 1---2000

TARIFE / Adjustable stroke type

0--100

AN S / Magnet code

Z*H / Blank #rfER / Without magnet

S RE#IF / With magnet

ElEA!R /Fixed type

23 /Blank F Y / Normal type

LB Bi/EEZEE! / Front and back fixed type

FA RIEEIER (§IEZ) / Front cover fixed type (Front flange type)
FB EEEER (F%Z) /Back cover fixed type(Back flange type)
CA JEEBEIER (BHI) /Back cover fixed type(Single earring)
CB JEEEIER (WEI) /Back cover fixed type(Double earring)
TC rhiE] #2428 / Central trunnion type

TC-M 212X MIMIEE / Central trunnion type attaching seat

RO B REE X7 R i A AR



FSC/FSU %3S L / FSC/FSU Series cylinder

5 |BW FS |&iR
NO. |Designation NO. |Designation
! 10 11 13 14 | |EEARE 10 |
Piston rod nut Wear ring
/_ 2 TERE 1" FIE
Piston rod Barrel
1 5 |BIEEEHE 1o |EAEHE
Front cover seal Buffe seal ring
4 B i 13 |EHETI$E/ Damping
e Bearing adjustable screw
i ﬂ 3 —.I' Bi= =
1 L5 NI f 5 = 14 | =
_] . . ) g Front cover Back cover
6 0% 15 [SPav=L xS
i o E|=—l 7 Buffering O-Ring Hex socket screw
I ; ' EETES AT
\17 18 = 7 |Pipe wall O-Ring | '® |Tie rod nut
8 EE0S 17 TEEEIE
Piston O-ring Piston rod 0-ring
9 |J&ZE /Piston 18 | BI4F / Tie rod
| 545% /General data
172 / Bore (mm) 32 | 40 | s0 | 6 | 8 [ 100 [ 125 | 160 | 200 | 250 [ 320
TAEF R /Working medium =5 /Air
ZHERE /Motion pattern Ex)E sk B EE /Double action or single action
B = FSC/FSU FA FB CA CB LB TC TC-M
FSCD / FSUD
B R FSCJ/FSUJ FA- CA CB TC TC-M

Rt E 71 /Ensured pressure resistance

15.3kgflcm2(1.5MPa)

= 1EF & /1 /Max.pressure

10.2kgf/lcm2(1.0MPa)

K {EHE S /Min.pressure

0. 5kgf/cm2(o 05MPa) 1kgflcm2(0.1MPa)

IMEFIFAGRE /Environment and fluid temp

-20 ~ 80°C (NERIFEL:

5 60°C) / Internal Magnet type temp Max: 60°C

SEZIRE /Speed Range 50 ~ 750mm/s
#24 /Buffering S48 /Air buffer
2172 /Buffering stroke 20mm | 326mm 45mm | 52mm | 66mm
EE O /Pipe size G1/8 G1/4 G3/8 | G1/2 G3/4 G1"
I f7#2 / Stroke
A& / Bore size brifiA7#E / Standard Stroke MB;?)?(S{tTrzie Stroﬁaltt':;gznce
32 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 1000 1800
40 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1200 1800
50 1200 2000
63 1500 2000
80 1500 2000
100 1500 2000
125 25 50 75 80 100 125 150 160 175 200 250 300 350 400 450 500 600 700 800 1500 2000
160 900 1000 1500 2000
200 1500 2000
250 1500 2000
320 1500 2000

RO B R ER X 7 R i A AR

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

35



NRPRC

PNEUMATIC

FSC/FSU %355 #L / FSC/FSU Series cylinder

A+4T#E(Stroke)
B C+{7#(Stroke)

E _F| G G
H N_ _|Q Q N

FLUID AUTOMATIC COMPONENT

oS
oT
1
e ; N\
| )
j§ = lo
i

ﬁw44,+ | >l 1] 77&55: I D N
(S S ﬁ ~ N
- W
8~LM~N ¥ 1 — ———1 |
~VIZR
N J (Depyh)
2-0
| R<+% / Dimension sheet
i+ P =)
B Bﬁjrfeéls/yﬁm-l?;l Al B |¢c|D|E|F| @6 ]|H I J K L M N 0 P Q R $ T vV ol w |z
pul
{m 32 140 | 47 93 28 32 15 | 275 | 22 17 6 M10x1.25 M6x1 9.5 135 | G1/8| 3.5 7.5 7 45 33 12 10 |21
#ﬁ:_: 40 142 | 48 93 32 34 15 | 275 | 24 17 7 M12x1.25 M6x1 9.5 13.5 | G1/4 6 8.2 9 50 37 16 14 |21
& 50 150 | 57 93 38 42 15 | 275 | 32 23 8 M16x1.5 M6x1 9.5 135 | G1/4| 85 8.2 9 62 47 20 17 |23
63 153 | 57 96 38 42 15 | 275 | 32 23 8 M16x1.5 M8x1.25 | 9.5 135 |G3/8| 7 82 | 85 75 56 20 17 |23
80 183 | 75 | 108 | 47 54 21 33 40 26 10 M20x1.5 M10x1.5 | 115 | 16.5 | G3/8 | 10 9.5 14 94 70 25 22 |29
100 189 | 75 | 114 | 47 54 21 33 40 26 10 M20x1.5 M10x1.5 | 115 | 165 | G1/2| 11 9.5 14 112 84 25 22 |29
125 336 | 104 | 122 | 55 70 34 33 54 40 10 M27x2.0 |M12x1.75| 1565 | 16,5 | G1/2| 10 10 " 140 | 110 32 27 |/
160 291 | 123 | 168 | 62 93 30 50 72 55 18 M36x2.0 M16x2 di7:5 25 G1/2 / / / 180 | 140 | 40 36 | /
200 347 | 167 | 180 | 80 | 112 | 55 50 72 55 18 M36x2.0 M16x2 | 17.5 25 | G3/4 / / / 220 | 175 | 40 | 36 | /
250 389 | 189 | 200 | 90 | 122 | 67 54 84 65 21 M42x2.0 M20x2 25 31 G1 | 185 5 40 | 270 | 220 | 50 | 46 | /
320 436 | 216 | 220 | 110 | 126 | 90 65 96 75 24 M48x2.0 M24x2 28 31 G1 35 15 35 350 | 270 | 63 55 | /
A+{TFE(Stroke) x 2
B C+4TFE(Stroke) B+{7F£(Stroke)
E E+f7F£(Stroke)
J
FSCD 1 1/ 777777772' ] 777<@|4‘ -
\/ | ) \/
A1+47F2(Stroke) x 2+7] 14T £ (AStroke)
B C+/TFE(Stroke)  Z+4TFE(Stroke)+ ] 1T FE(A.Stroke)
E
Z+ ] AT FE(A.Stroke)
4 ] 1 J
\ ) (4@
Fsc) am ,Wﬁ,,i,i,fﬁ - f,J(X"J}
-
H {ﬁ} ® | | =<
&I12 / #55 / Bore/Symbol A A1 B © E z J K
32 187 182 47 93 32 27 6 M10x1.25
40 191 185 48 93 34 28 7 M12x1.25
50 207 194 57 93 42 29 8 M16x1.5
63 210 | 197 | 57 | 96 | 42 | 29 | 8 | Mi6xi5 g){ﬁg%h’g*ﬁgﬁﬂw
80 257 | 2387 | 75 108 54 | 335 10 M20x1.5 . A TS
100 263 | 2445 | 75 114 54 | 335 | 10 M20x1.5 1.The dimensions of magnet type cylinder are the same as
non-magnet type cylinder
125 / / 104 122 70 / 10 M27x2.0 2.The unmarked dimension is the same as DNC standard type.
160 / / 123 | 168 93 / 18 M36x2.0
200 / / 167 | 180 | 112 / 18 M36x2.0
250 / / 189 | 200 | 122 / 21 M42x2.0
320 / / 216 | 220 | 126 / 24 M48x2.0

A AR 8 M AR
36



SDA F %S 4L / SDA Series cylinder

SDA A3 HA S

SDA Series thin type(compact)cylinder

i RS MR R ST AR

Note:The dimensions of magnet type cylinder
are the same as non-magnet type cylinder.

[ISDA #%I{TH%3 / SDA Series ordering code

[SDA|] - [ 63 ] - [50] - [ 25 ] - | s - | B
Z5IX S /Series code
SDA | EzhE! / Double action type
SSA  |HnhiEH A/ Single action-push type
STA B3| N8/ Single action-pull type
SDAD | W& zhE! / Double-shalf double action type
SDAJ |EzhAli81T428! /Double-shalf and adjustable stroke type
£I12 / Cylinder bore
1742 /Stroke
12 1---65
16 1---65
20 1---100
25 1---130
32 1---130
40 1---130
50 1---130
63 1---130
80 1---130
100 1---130
AIHRIFE / Adjustable stroke type
0--50
#AKS / Magnet code
ZH / Blank ¥R / Without magnet
S R E#ER / With magnet
ZF&! /Rod type
Z=H /Blank |53/ Femal thread
B SNFA! / Male thread
N FFE (FI7E=) /No thread
| 5428 /General data
142 / Bore (mm) 12 16 20 25 32 40 50 63 80 100
T 4E4v B /Working medium =5 /Air
£ =5hE! /Double action

ZHER K /Motion pattern

BRI A, HE)5| \E /Single action extrusion type ,Single action drawing-in type

EE)EMEHSEE /Double action operating speed
range

0.1 ~ 1.0MPa

B E){EFE J13EE /Single action operating speed range

0.2 ~ 1.0MPa

{RIEM} £ 77 /Ensured pressure resistance

15.3kgf/cm2(1.5MPa)

5/ ES /Max.pressure

10.2kgf/cm2(1.0MPa)

IR FR AR E /Environment and fluid temp

-20 ~80°C (NEMIE: &S 60°C) /Internal Magnet type temp Max: 60°C

JEEIRE /Speed Range

557 /Double action:30 ~ 500mm/s #1374 /Single action:50 ~ 500mm/s

224 /Buffering

[ElE4E % /Fixed type buffer

O /Pipe size

M5x0.8 \ G1/8 \ G1/4 \

G3/8

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

37



NPPC

PNEUMATIC
SDA &3S I / SDA Series cylinder
A+{TFE(Stroke)
> Bl CHTF(Stroke)
i F P3 P3
= . M P4 P4
&
P A A I 1
o o & | |
CED L
8 SDA/SDAS N @j\ \ | <k —d o~
E D12 P16 ] 9 ﬁ \\> /\J
=
'C_) (% — M 2-0
> w AKX TE
a K1 (Depth) E < G |N2_|
)
T
A+17F2(Stroke)
D Bl C+1172(Stroke)
S R T, 3 P3
M 4 —pi ]
E /] L2
&
g SDA/ SDAS 3\\ o 2l 2k yany M
= D20 ~ ©100 gj A\ 20N
e
—
/ G N2

| R~-t%/Dimension sheet

1z /% R [iop il
By [iandard type Attach negnet! p \ g |FiG | K1 | L [M|N1[N3| O P1 P3| P4 |R|S|TI|lU |V | w|Xx]|Y
symbol | A [B1| C | A |B1| C
12 22 |5 |17 |32 |5 |27 | - |6]4| 1|M3x0.5(102|3.8) 6.3 | 6 |M5x0.8| ™2 M0pe ciied: 0507 (et 608 15| 45 | - | 25|16.2|16 | 6 | 5 | - | -
16 24 |55/18.5| 34 |55(28.5| - |6 |4|1.5 M3x0.5 | 11 |2.8 7.3 |6.5M5x0.8 |2 Myin oo @057 (Meea) W50 12| 45 | - |29 |198/16 | 6 | 5 | - | -
20 25 |5.5/19.5| 35 |5.5(29.5| 36 | 8 |4 |1.5| M4x0.7 | 13 |2.8) 7.5 | - |M5x0.8| ™ Mys <o 0007 (et 4008 14| 45 | 2 |34 | 24 |21 | 8 | 6 |11.3/10
25 |27 |6 |21 |37 |6 |31|42[10(4] 2 |M5x0.8 | 17 [2.8] 8 | - |M5x0.8| "% ol sier) @821 (Tnewd w10l 45| 55 | 5 | 40 [ 28 3.1 | 10 | 8 | 12 |10
32 [31.5| 7 [245415| 7 345 50 (124 | 3 | Méx1 | 22 [2.8| 9 | - | G/g [T e 2T (e W10l 16| 55 | 6 |44 | 34 [2.15| 12 | 10 |18.3] 15
40 |33 |7 |26|43| 7 |36|585/12|4| 3 |M8x1.25| 28 (2.8 10 | - | G1/g WA e 01004 (Hheead 38425/ 5o | 75 16.5| 52 | 40 [2.25| 16 | 14 |21.3| 16
50 37 | 9|28 47| 9|38 |71.515/5| 4 [M10x1.5| 38 |2.8{10.5| - | G1/a | Pulye sided @1/ Ghreed) 45125 95| 8.5 |9.5( 62 | 48 4.15| 20 | 17 | 30 |20
63 4119 |32 |51 | 9|42 (845[15/5| 4 [M10x1.5| 40 |2.8|11.8| - | G1/4 |WECbie siios) o1F (st W25 25| 8.5 |9.5| 75 | 60 |3.15| 20 | 17 |28.7| 20
Wi (Double sides) :®14/ 4
80 52 |11 41 | 62 | 11| 51 |104[20|6| 5 |[M14x1.5| 45 | 4 |14.5| - | G3/8 threud) Wit 780 57l o |25/ 10,510 | 94 | 74 |3.65| 25 | 22 | 36 | 26
100 |63 (12| 51 | 73 |12 | 61 |124(20|7 | 5 |M18x1.5| 55 | 4 |20.5| - | G3/g | My e oA 7 (s M2 30| 13 |10 [114| 90 [3.65| 25 | 27 | 36 |26
SDAJ(D12 D16 A+4772(Stroke)X2+ 1] i {772 (AStroke) ~
| ( ) | Bl C+4TFi(Stroke) | SDAJ (¢20 @1 00) | A+17F5(Stroke) X2+ 1] 1117 F£(AStroke)
QuiFR(Stroke)+ T 7 Fi(AStroke) G Ci(Stroke) Qe Strokeys T FH(AStroke
Q+ 11 7 F2(AStroke) Q-+ J{47#2(AStroke)
| I — 7 | E%
T E - S 3 o & ?33]
IS} a 1 B4
Pan WL N -
A% A\
N1 N1
N1 N1
| R~t% / Dimension sheet
5112 / 52 |#0fEE! /Standard type | Biif#ZE! /Attach magnet E 2l @ lel s - - 1 N1
Bore/Symbol A e A Cc  |s=<10]s>10 S=5]8>5 i
12 40 17 50 27 6 5|17 | 1| 4 | M3x05| M5x0.8 |10.2] 55 | 6.3 1 PHEEEL S RMBEE RSTHE R
16 425 18.5 52.5 285 6 55 17 [1.5] 4 | M3x05 | M5x0.8 | 11 [65[ 73 2 K#REZ R~ 5 SDA f7iE R <18
20 475 195 57.5 205 |8(S=5 6.5) |55 21 [1.5] 5 |M4x0.7 | M6x1.0 | 15| 75 Nﬁji
ote:
25 54 21 64 31 10(5=57) | 6] 25 2] 6 | M5x0.8 | M8x1.25 | 17 8 1.The dimensions of magnet type
32 61.5 24.5 715 34.5 8 | 12 |7]27|3] 6 | Mex1 [M10x1.25] 22 | 8 | 9 cylinder are the same as hon-
40 64 26 74 36 8 12 | 7|28 | 3| 7 |M8x1.25|M12x1.25| 28 | 8 | 10 magnet type cylinder
50 70 28 80 38 8 | 15 | 9] 20]4]| 8 |[M10x15 M16x1.5 | 38 | 8 |10.5 2.The “”S”“Dagk‘id ‘(‘j‘mg';s“’” is the
63 74 32 84 42 10 | 15 [9 [ 29| 4| 8 |[M10x1.5| M16x15| 40 | 9.5 [11.8 same as standard type
80 92,5 41 102.5 51 13 | 20 [11]355] 5] 10 [M14x1.5| M20x1.5 | 45 |11.5/14.5
100 110.5 51 1205 61 18 | 20 [12]425] 5 [13.5|M18x1.5| M27x2.0 | 55 | 16 [20.5

A AR 8 M AR
38



NRPRC

PNEUMATIC

SDA £ %S 41 / SDA Series cylinder

SSA(®12 D16) |SSA(G>20 ~ ®100) |

A+477%(Stroke) A+17FL(Stroke)
S |B1_ C+177(Stroke) BI = C+{7F(Stroke) - E
TI F P3 P3 |E_ w
S M _[1[P4 P M P4 P4, %
o
Jzary I [ =
\ L 8
L i o
A SR« ol = >[ yany =
ANk % fJ S D E
fﬁg w/ o) E
N 2
= N2 (o)
K1i% (Depth) E G IEALA| =3
>
[

STA(®12 ©16)

A+{TF2(Stroke) X2 |

B1+{7#2(Strok A+17F2(Stroke)X2
P Sk iR Suroke) b BI+{77(Stroke) CHTEStroke)
- M — P F{7F(Stroke) P3 P3
12N izt M P4 P4
I % fééé 4%]
— e
2|+ FanY E
SIE Al \V R
N ]E | ———
@& | 0 LS g
2.p1 © F
KI1¥% (Depth) E & LN
NI
| =~t% / Dimension sheet
R/ R Standard JiagTadl
= type Attach magnet
Bore/ A c A c B1| D |[E|F| G K1 L |[M| N1 | N2 |O P1 P3|P4|R|S| T1 |T2|V|W| X |Y
Symbol <10 >10 | <10 [>10]<10[>10[ <10 [>10
Wil (Double sides) :®6.5/ F
12 32 | 42 | 27 | 37 | 42 | 52 | 37 | 47 | 5 - |64 1|M3x05(102|3| 75| 5 |M5x0.8 <Thrmd?v\lﬁxg-BlﬁgtThmwh 12145 - (25|16.2|123|6 | 5| - -
ports) @ »
AA (Double sides) :®6.5/ 5
16 34 | 44 128.5|38.5| 44 | 54 |38.5/48.5(|55| - |6|4(1.5{ M3x0.5| 11 [3| 8 | 55 |[M5x0.8 (Thrcad):MSXD).S/U'))LZ{\Z_('I‘Mmlgh 12|4.5| - |29/19.8|28|6|5| - | -
ports) 104,
AWi# (Double sides) : 6.5/ F
20 35 | 45 |29.5(39.5| 45 | 55 |39.5|49.5|55| 36 |8 |4|1.5  M4x0.7 | 13 |3 | 9 | 5.5 |M5x0.8 <Thrmd)v\ISX%B/ﬁ:;Hhmuzh 14145| 2 (34| 24 |- | 8|6 |11.3|10
ports) ;4.

il (Double sides):®8.2/
25 37 | 47 | 31 | 41 | 47 | 57 | 41 | 51 | 6 | 42 |[10|4| 2 | M5x0.8 | 17 | 3| 9.2 | 5.5 |M5x0.8 <'lhrcad):beg.olﬁfé('rhmugn 15|5.5| 2 (40| 28 |- (10| 8 | 12 |10
ports) : |
Wil (Double sides) : 8.2/
32 41.5|51.5(34.5(44.5/51.5|/61.5|44.5|54.5| 7 | 50 {124 |2.4| M6x1 22 13| 9 9 |G1/8 (Thread) \IéxW)D/ﬁ?éuhrough 16|5.5| 6 |44| 34 |- [12|10|18.3|15
ports) P4
il (Double sides) :®10/ F
40 43 | 53 | 36 | 46 | 53 | 63 | 46 | 56 | 7 |58.5(12|4| 3 [M8x1.25| 28 |3 | 9.5 | 7.5 |G1/8 | (thread):Msx1.25/i84L(Throueh | 20 | 7.5(6.5(52| 40 |- |16|14|21.3 |16

ports) :96.5
Wil (Double sides):®11/
50 47 | 57 | 38 | 48 | 57 | 67 | 48 | 58 | 9 |71.5|15|5| 4 |M10x1.5| 38 |3 10.5|10.5|G1/4 (Thread) :¥8x1 25/$ué45L47hr(!VAuh 25(8.5|9.5/62| 48 |- |20(17| 30 |20
ports) 106
Wl (ouble sides) : @11/ F
63 51 | 61 |42 | 52|61 |71 |52 |62 |9 |845(15/5| 4 |[M10x1.5| 40 |3 | 12 | 11 |G1/4 |Cthread) VlBX')ZSI;)Lﬂaié('I‘hmuuh 25|8.5|9.5|75| 60 |- [20(17(28.7 |20
ports) @ ..
SDAD(®12 ®16) |SDAD(¢20 ~ ®100) |
A+1TFE(Stroke)X2 A+F7F(Stroke)X2
Bl C+{T#2(Stroke) Bl+47F(Stroke) Bl C+/7F2(Stroke) B1+47 Fi(Stroke)
G| F+{7F2(Stroke)
| G F+17 1% (Stroke)|
@9 | ——— ]
] O—6 §
g P K Y
f< yan ~
@ O—@
K13 (Depth) E N1 N1 K1 (Depth) E N1 N1
| R+t / Dimension sheet
5112 / 552 | ¥R /Standard type |Fif#4E! /Attach magnet E N1
B1 | F |G K1 L
Bore/Symbol A © A Cc  |ss10]s>10 S=5 | s>5
12 27 17 37 27 6 5 | 4|1 | M3x05|10.2| 55 | 6.3 B
16 295 18.5 395 285 6 55| 4 (15| M3x05 | 11 | 65 | 7.3 ﬁsﬁ“mtﬁﬂﬁ“#mﬂam
- TR RS AR B R <THHE
20 30.5 19.5 40.5 29.5 8(S=5 6.5) |55 |4 |1.5| M4x0.7 | 15 7.5 2 kiREZ R 5 SDA #riE R~HER,
25 33 21 43 31 10(5=57) | 6 | 4| 2 | M5x0.8 | 17 8 Note:
32 385 245 48.5 24.5 8 12 7 |43 M6x1 22 8 9 1.The dimensions of magnet type cylinder are
40 40 26 50 36 8 | 12 | 7 [4|3|mex125/ 28| 8 | 10 the same as non-magnet type cylinder
50 46 28 56 38 8 15 9 | 5] 4 |Mi0x15| 38 P 105 ighe unmarked dimension is the same as SDA
ndard type
63 50 32 60 42 10 15 9 | 5|4 |M10x1.5| 40 | 95 |11.8
80 63 41 73 51 13 20 11 | 6| 5 |[M14x1.5| 45 | 11.5 | 145
100 75 51 85 61 18 20 |12 |7 | 5 |[M18x1.5| 55 16 |20.5

RO B R ER X 7 R i A AR 39



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

40

ADVU %3S L / ADVU Series cylinder

ADVU #7%IiE28I <L
ADVU Series thin type(compact)cylinder

S0y Anav
TeleN
e —
————

IADVU Z%{TMIAS / ADVU Series ordering code

i MRS THUERTHEE,

Note:The dimensions of magnet type cylinder
are the same as non-magnet type cylinder.

[ADVU | - | 63 | -

Z5{XS /Series code

ADVU £ 558 / Double action type

ASVU | #zh#H R / Single action-push type

ATVU #zh5| A& / Single action-pull type

ADVUD |MihE R / Double-shalf double action type

ADVUJ

S zhAE1T122 /Double-shalf and adjustable stroke type

#I12 / Cylinder bore

1742 /Stroke

12 1---65

16 1---65

20 1---100

25 1---130

32 1---130

40 1-—-130

50 1---130

63 1---130

80 1---130

100 1---130

AIFRIFE / Adjustable stroke type

0--50

AR S / Magnet code

ZH / Blank FRERL / Without magnet

S AE#EF / With magnet

ZF# /Rod type

zZH /Blank |AZFE!/Female thread

B ShNZF R | Male thread

N TFA (F13EZ) /No thread

I s4%% /General data

1% / Bore(mm)

12 16 20 25 32 40 50 63 80

100

T 1&4v Bt /Working medium

=5 /Air

Z;ERE R /Motion pattern

S 58 /Double action

BERH A, 855 A\B! /Single action-push type ,Single action-pull type

Sz R EH3ERE /Double action operating speed
range

0.1 ~ 1.0MPa

B E{sE A JE 1135 /Single action operating speed range

0.2 ~ 1.0MPa

{RIEM} E 71 /Ensured pressure resistance

15.3kgf/cm2(1.5MPa)

BSEMAES /Max.pressure

10.2kgf/cm2(1.0MPa)

IMEAAARE /Environment and fluid temp

-20 ~80°C (NEHFFE: &5 60°C) /Internal Magnet type temp Max: 60°C

JEEIRE /Speed Range

£5hA /Double action:30 ~ 500mm/s B E)A! /Single action:50 ~ 500mm/s

£& % /Buffering

[El £ 48 % /Fixed type buffer

& 12 /Pipe size

M5x0.8 | G1/8

G1/4

RO B REE X7 R i A AR




ADVU %% <L / ADVU Series cylinder

ADVU @Q1iA (Depth) :R1

@Qix (Depth) :R

E =
: ——
H|
) 72 — =
%J > |1 I -
15 ] L f*
L L
e M+{7f(Stroke) O]
N+17F¢(Stroke)
ASVU ATVU
@QUE (Depth) :RI QI (Depth) :R £ G - ) ) §
= rvr— am BQuiE (Depth) :R1 Fa/ng (Depth) :R =t G
. ———- ] —— =
< K L
I |
% y | Ve ‘ - ;f
i L P i el I
L - HE M1 17 i(Stroke) O+{7Fi(Stroke)
M+17F¢(Stroke) fo] [ Nefr(Stroke) x 2
N+{rf2(Stroke)
| R-t%/Dimension sheet
7= =
i1t/ FFS C D E F G H | J K L M N 0 P Q Q1 R | Rl
Bore/Symbol
12 30 18 29 7 M5x0.8 3 6 M4x0.7 | 11.5| 18 38 425 | 45 5 M3x0.5 3.3 8 |15
16 30 18 29 7 M5x0.8 & 8 M4x0.7 | 11.5 | 18 38 425 | 45 6 M4x0.7 4.5 10 | 1.5
20 37.5 22 36 7 M5x0.8 3 10 | M5x0.8 | 11.5| 18 38 425 | 45 8 M5x0.8 5.5 12 2
25 415 26 40 7 M5x0.8 4 10 | M5x0.8 | 11.5| 18 39.5 45 515 8 M5x0.8 515 12 | 2
32 52 32 50 8 G1/8 45 | 12 | M6x1.0 14 21 445 | 50.5 6 10 M6x1.0 6.5 14 126
40 62.5 42 60 8 G1/8 45 | 12 | M6x1.0 14 21 45.5 52 6.5 | 10 M6x1.0 6.5 14 126
50 71 50 68 8 G1/8 5 16 | M8x1.25 | 14 | 215 | 455 53 75 | 13 | M8x1.25 8.5 16 | 3.3
63 91 62 87 8 G1/8 5 16 | M10x1.5 | 15 24 50 575 | 75 | 13 | M8x1.25 8.5 16 | 3.3
80 111 82 107 | 85 G1/8 55 | 20 | M10x1.5 | 16 27 56 64 8 17 | M10x1.5 8.5 20 |47
100 133 103 128 | 10.5| G1/4 75 | 20 | M10x1.5 | 19 32 66.5 | 76.5 10 | 22 | M12x1.75 | 10.5 | 24 | 6.1
ADVUD ADVUJ
1
I _— X
- = ] Wpﬁﬁ
WF?K — 4}2@ A I WL54
U <
==
S 777772 M+f7f(Stroke) O+ AT E(AStrake)
O+17#2(Stroke) M+47F£(Stroke) 0 fel O1+{7H(Stroke)+ i 17 F2(A$troke)
N1+{7##(Stroke) x 2 N1+{775(Stroke) x 2+ 1 7 F£(AStroke)
| R<+% / Dimension sheet
$112 / #55 Bore/Symbol M N N1 o o1 T Q
12 38 47 63.5 4.5 21 5 M6x1.0 &
16 38 47 67.5 4.5 25 6 M8x1.25 1 myx%#lu._ﬁxwﬁﬂluﬁqm A
20 38 47 69.5 4.5 27 6 M10x1.25 2 KiFiEZ R~ 5 SDA #RiE R~THHE
25) 39.5 5015 72 6.5 27 6 M10x1.25 Note
1.The dimensions of magnet type cylinder are the
32 44.5 56.5 77.5 6 27 6 M10x1.25 same as non-magnet type cylinder
40 455 58.5 79 6.5 27 6 M10x1.25 2.The unmarked dimension is the same as SDA
50 455 60.5 81 75 | 28 | 7 | Mi2x1.25 | clenderdibee
63 50 65 85.5 [25; 28 7 M12x1.25
80 56 72 93 8 29 8 M16x1.5
100 66.5 86.5 112 10 35.5 10 M20x1.5

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

41



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

42

CQ2 &%SHL/ CQ2 Series cylinder

CQ2 #7Ii#HEESEL

CQ2 Series compact cylinder

i MBS FWH#ERRTERE,

are the same as non-magnet type cylinder.

I CQ2 &7%iTH#Y / CQ2 Series ordering code

Note:The dimensions of magnet type cylinder

[c2] - [ B[ - [50] - [10] - [ D] -
ZF{R S /Series code
CQ2  |&ZA#!/Normal type
CDQ2 |AE#4FE! / With magnet type
224 | Mounting style
B 1®FL / With through bore
A ik AE4L / With female thread on both ends
£1#Z / Cylinder bore
1772 /Stroke
12 1---65
16 1---65
20 1---100
25 1---130
32 1---130
40 1---130
50 1---130
63 1---130
80 1---130
100 1---130
#h{E / Action
D |EzhE / Without magnet
S |EznRHA / Single action extrusion type
T |#%)5| A&/ Single action drawing-in type
ZF8 / Rod type
Z=A /Blank |RZFE!/ Female thread
M SNF AL/ Male thread
I Z&3# /General data
142 / Bore (mm) 12 16 20 25 32 40 50 63 80 100
T 4&4v B /Working medium =5 /Air
£ 3578 /Double action

HER K /Motion pattern

BERHAL, 5| N /Single action extrusion type ,Single action drawing-in type

E&FERIETEE /Double action operating speed range 0.1 ~ 1.0MPa
B zh{$ FJE 156 /Single action operating speed range 0.2 ~ 1.0MPa

{RIEMIE 71 /Ensured pressure resistance

15.3kgflcm2(1.5MPa)

RS/ ES /Max.pressure

10.2kgf/cm2(1.0MPa)

IMEFAR SRR /Environment and fluid temp

-20 ~80°C (NEMIFE: &% 60°C) / Internal Magnet type temp Max: 60°C

SEEIRE /Speed Range

E5h& /Double action:30 ~ 500mm/s B &I /Single action:50 ~ 500mm/s

£Z % /Buffering

[E|E4E % /Fixed type buffer

JEE DR /Pipe size

M5x0.8 | G1/8 | G1/4

G3/8

RO B REE X7 R i A AR




CQ2 AFIKHEL/ CQ2 Series cylinder

[cQ2B(@12 ~ ®25)

HERe FC

4-¢N # {L. Through

[cQzB@32 ~ ®100) |

H Screw Dgpth C 8-#0 E R4 7, HERZ HC 4-oN 8L Through a F
a F 2p Screw Depth C 890 ERH L 7 ™
[mEE ;
P Bore M \
7 1
"5 J [ | e N 3
P o] 7o & £ i R Iy
et b
=
_‘_(& L B + {732 Stroke « L B + 1712 Stroke
MEO2
acos
£ E 3
W
= . . . . / /=10
Iilijl S HLR~+% / Double action cylinder dimension sheet I'kwﬁs /Length stroke
512 | 1TiEEE e iTiEEE
Bore Stroke B |[®D| E 7 H C|®l|J|K|L M | ®N (o]e) P Q w z i Stroke B F P Q
N Symbol
size | range (mm) range (mm)
12 | 5~30 |17 |6 |25| 5 | M3x05|6 |32 | - | 5|3.5/155/3.5| 6.5 /depth 3.5 |M5x0.8| 75| - | - 32 | 75~100| 33 | 7.5 | G1/8 |10.5
16 | 5~30 [185|8 |29]55 | Max0.7 | 8|38 | - | 6 [3.5] 20 [3.5] 6.5 /depth 3.5 |M5x08| 8 | - |10 40 | 75~ 100 [395] 8 | G1/8 | 11
20 | 5~30 [195/10|36|55 | M5x0.8 | 7 | 47 | - | 8 |4.5/255|55 /depth 7 |M5x08| 9 | - |10 50 | 75~ 100 [40.5/10.5| G1/4 |10.5
25 | 5~60 |225[12[40]|55 | Mex1.0 [12] 52 | - [10] 5 | 28 [55] 9y /depth 7 |[M5x0.8] 11 | - [10 63 | 75~ 100 | 46 |10.5| G1/4 | 15
5 55 M5x0.8|11.5 80 75~ 100 |53.5(12.5| G3/8 | 16
82 o 231645 | MBx1.25 | 13) 60 |45/14| 7 | 34 55| 93K /depth T m St 495 | 18 T [ m~mnle@l® Il el E
40 | 5~50 |205(16]52| 8 [M8x1.25[13| 69 | 5 |14| 7 | 40 [55] 9 /depth 7 | G1/8 | 11 | 57 | 18| 1, #RAEfTIEH’E 5mm 1E6E;
50 | 10~50 [30.5]/20|64[10.5|M10x1.5/15| 86 | 7 [17] 8 | 50 [6.6] 117% /depth 8 | G1/4 [105] 71 [ 22| 2, {72 55mm = 100mm 2 j&] 49 & (81T 52
63 | 10~50 | 36 |20 |77 [10.5|M10x1.5[15[103| 7 [17] 8 | 60 | 9 | 14 & /depth 10.5 | G1/4 | 15 | 84 | 22| (55,60, 65, 70, 80, 85,90, 95) fI 5, 10, 15,
80 | 10~50 |43.5[25|98 |12.5|M16x2.0|21[132]| 6 [22] 10| 77 | 11 [17.53% /depth 13.5| G3/8 | 16 | 104 | 26 | 20 EAYIAR;
100 | 10~50 | 53 [30]117] 13 [M20x2.5] 27156 |6.5]27 | 12| 94 | 11 [17.5 % /depth 13.5] G3/8 | 23 [123.5] 26 | 3, FRIFBEFFHIIEA, BILESERTMHAE
AR SEIR TR —#H#.
I B S IR~} % / Dimension sheet(single action)
EAEES
B B P
Bore oD | E H Clo| J|K|L| M |ON ®0 ¢ W z
size | 5st | 10st | 20st 5st | 10st 5st 10st 20st 5st 10st
12 | 2227 - |6 |25] 5| 5] M3x05 |6 |32| - | 5 [35|155|3.5]| 6.5 /depth 3.5 M5x0.8 - 75 | 75 - -
13 |235(285| - | 8 |29 |55|55| Max07 | 8 [ 38| - | 6 |35 20 |35/ 6.5% /depth 3.5 M5x0.8 = 8 8 = 10
20 |245|295| - | 10|36 |55|55| M5x0.8 | 7 |47 | - | 8 |45|255|55| 9 /depth 7 M5x0.8 - 9 9 - 10
25 |275|325| - | 12| 40 |55[55| Méx1.0 | 12|52 - |10 | 5 | 28 [55| 9 /depth 7 M5x0.8 = 11 11 = 10
32 |28 ]33] - |16 | 45[55|75] M8x1.25 | 1360 |45| 14| 7 | 34 |55| 9ys/depth 7 |M6x0.8] G1/8 - 15 | 115 | 495 | 18
40 [345(395) - |16 |52 | 8 | 8 | M8x125 [ 13|69 | 5 [ 14| 7 | 40 |55| 9% /depth 7 G1/8 = 11 11 57 18
50 | - |40.5/50.5| 20 | 64 |10.5/10.5| M10x1.5 | 15| 86| 7 |17 | 8 | 50 | 65| 113 /depth 8 -] G1/4 105 | 105 | 71 22
B 7/ 3% % J£ 1 / Single action(with spring
|7‘E§*¥9I\ﬂ!§éﬁl /Thread outer type | [P35 /Inner thread type extent
H . Q as
’J O- HEEL N B L 2y P
g - 7
= A
&
c
LS X R R
L B+ {72 . Py
I FEIEMHMELL /Thread outer type I im IR /Inner thread type I Bz / BWEEH / Single action(with spring extent
T T i - -
Bﬁgr::/S/ ﬁm-t;j_ol © X |ee , o B%)I::/S/ ﬁ?& @ R i/ S A -
Y Y Bore/Symbol | 5st [ 10st | 20st | 5st | 10st | 20st
12 19 110; 6 msu:.s 114 5 12 mxw 7 12 3051408 - |85 [135] -
6 0 8 6x1.0 [15.5]6 6 X0.7 7 T ARCARR AL
20 12 | 14 | 10| M8x1.25 [18.58 20 M6x1.0 10 % 24 T aa | = To5 125 -
25 15 [17.5| 12 | M10x1.25 [ 22.5[10 25 M6x1.0 10 = SlmEl o Tl <
32 20.5/235] 16 | M14x1.5 |28.5[14 32 M6x1.0 10 2 0 50— T2 7 -
40 20.5/235| 16 | M14x1.5 [28.5[14 40 M6x1.0 10 75 265 565 2 17
50 26 | 28.5| 20 | M18x1.5 |33.5|17 50 mgx1.25 14 50 - |s85|785] - | 18 | 28
63 26 |28.5] 20 | M18x1.5 |335[17 63 M10x1.5 18 : -
80 32.5/35.5| 25 | M22x1.5 |43.5[22 80 M12x1.75 22
100 32.5/355| 30 | M26x1.5 |43.5|27 100 M12x1.75 22

RO B R ER X 7 R i A AR

NaPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

kBT

43



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

44

TN &%ISHEL/ TN Series cylinder

TN &5 =il
TN Series cylinder

ITN AF)ITMES / TN

Series ordering code

[ TN [ -] 10 [-] 20 |- s
Z5IX S /Series code
TN [##E 1A / Double-shaft double action
#I12 / Cylinder bore
172 /Stroke
10 |1---70
16 |1---150
20 |1---150
25 |1---150
32 |1---150
A S /Magnet code
ZH /Blank | A4 / Not without magnet
S 51 / with magnet
I545% /General data
£112 / Bore(mm) 10 16 20 25 32
TAE/ R /Working medium =5 /Air
#hERIF /Motion pattern £ x93 /Double action
S )% FE 156 /Double action operating speed range 0.1 ~ 0.9MPa
fRIEMSE 77 /Ensured pressure resistance 10.5kgflcm2(1.05MPa)
IFE AR RIRE /Environment and fluid temp 5~ 80°C
SEZERE /Speed Range 100 ~ 500mm/s
£& % /Buffering iR AL % /Both ends buffer
HEE O /Pipe size M5x0.8 G1/8
TN 10 T N N [N @32
20 - el 2 s
2 szsxo.s - il 2 ’—JEJ é v XL
et N M e ¥
W hd \w\ 07 2 2160 2MBX125
2-M3X0.5 — ameme PR
—
M = ral | A
| L AN 1l [ K\
1ok . i
NEH :5[& R KRk ER @:% g A4 s €2 44 I &L/
AL 15 |
s AT oo ¢ o5 @ . D
4%' 2M305 , D+[ifi (Sofke) +’ — .L’M‘ d s
B+{7Fi(Stroke) Mi.;,gﬁ::ke) » .m:, - Em ” L"my 201 -
A+17#2 (Stroke) Beti#l (Stroke)
B =~F% / Dimension sheet
HRZ /S A q . 5 5 6 H |
Bore/Symbol 10 20 30 40 50 60 70 80 90 100 125 150
16 68 15 53 20 35 35 40 45 50 55 60 65 70 75 87.5 100 47 7 24
20 78 20 58 20 35 85 40 45 50 55 60 65 70 75 87.5 100 55 10 28
25 81 19 62 30 40 40 45 50 55 60 65 70 75 80 92.5 105 66 9 34
HR /S
Bore/Symbol J K L M | N1 | N2 P1 P2 Q R S T U
P (o) & i (double side @7.5;K(deep)7.2; | X/l (double side ®8; % (deep)4.4;
16 M4X0.7 IR (deep)5| 47 | 53 | 20 | 22| 10 iAL (Through hole) 4.5 3L (Through hole) ®4.5 34 8 54 1 21 | 8
e Xl (double side ®7.5;i%(deep)7.2; |Ail (double side ®8; % (deep)4.4;
e LI/ (ol | 691 | Gl | 20 20| i iBFL (Through hole) ®4.5 W7l (Through hole) ®4.5 il il o B S
e Xl (double side ®7.5;7%(deep)7.2; |XiZl (double side ®8; % (deep)4.4;
25 M4x0.7 ¥ (deep)6 | 66 | 72 | 27 | 30 | 12 7L (Through hole) 4.5 H7L (Through hole) 4.5 56 7 73 30 12
52/ S E
A B C
Bore/Symbol P 10 20 30 40 50 60 70
10 63 12 51 10 30 30 35 40 45 50 55
10 20 30 40 50 60 70 80 90 100 125 150
32 108 30 78 85|
45 50 55 60 65 70 75 80 85 90 102.5 115

RO B REE X7 R i A AR




NRPRC

PNEUMATIC
CXS #&%ISHEL / CXS Series cylinder

CXS RFI =Kl
CXS Series cylinder

I I CXS & %IiTHIRS / CXS Series ordering code
5 | CXs M 10 - | 20

FFRX S /Series code
CXS | RémE A / Double-shaft double action

FLUID AUTOMATIC COMPONENT

iR / Type of bearing
M [iBzh%h% / Slide bearing type
L 7BENS [E%h7% / Ball guide bearing type

1% / Cylinder bore

172 /Stroke
6 1---50
10 [1-75 &
16 |1---100 IR
20 1100 “
{m
25 |1--100 &
32 [1—100 Lt
=&
I z4%% /General data
£I12 / Bore (mm) 6 10 16 20 25 32
TAE/ B /Working medium =5 /Air
FHER K /Motion pattern S 518 /Double action
Ehf$EFAE SI5EE /Double action operating speed
i‘nﬁgli EF5eE P g sp 0.1 ~ 0.9MPa
{RIEM}E 77 /Ensured pressure resistance 10.5kgf/cm2(1.05MPa)
IFE AR RIRE /Environment and fluid temp 5 ~80°C
SEEIRE /Speed Range 100 ~ 500mm/s
4 /Buffering FARIGARE M /Both ends buffer
EE DR /Pipe size M5x0.8 | G1/8
CXs 6 [cXs ®10 ~ @100 | : -
" porry i el [T
s . I iy e e 5 =
5 il 3 s 1
e e ¢ 1 e | &l = o
&) ; N
T, et oA Il T = <otz o QJ\L eyt } i
pgsan s . 7
(13) 10+12{738(Stroke) = ) W
T CXS $10-15 CXS $20-32 ) L z
e ——— z T
PN 1 i O u. @ ) w o o ||
T 1 7 e e SR ST L
_ Pons s % 4 ? 3 ‘% a9 o A ed 9T H4
2 X o] " m ]
B =~f% / Dimension sheet
Bfrie%ls/yﬁm:ﬂ A B c D E F G H 1 J K L M N NN 0 00 P PP Q [ R RR N SS T m|u w v w X Y z 2z
CXS010-10 3 10 65 82
M5 2-03.4 34l M4 M3 | M3 | 30
CXSn10-20 x0.8 LThrough—hc!e) 2—M3X0.5 M M4 20 75 X M 92
CXSo10-30 | 46 | 17 | 44 15| 75 AL 35|20 | 4 8 9|2 %’gfuit;:;l(;‘rﬁse ( hrAca% 6 5 0.7 33.6 0X7 8.5 7 30 7 30 85 5 8 %% | 05 | 0.5 102
(Through . N - X : (Thread N (Thread X X
CXS010-40 ~hole) depht) 3.3 depth) 5 14.50 40 95 depth) 4.5 d(.r;tl_;) depth) 7| 10L | 5L 40 12
CXSn10-50 50 105 e 122
CXSo16-10 - 10 70 o 89
2M5 2-04.3 i M4 4-M5 M4 M5 | M4
CXSu16-20 x0.8 (Through-hole) Qg’;’g X M4 20 | 80 x0.8 X0.7 x | x )
CXSno16-30 | 58 |20 | 56 | 18 9 AL 45| 25 | 5 10 [ 9| 30 2-08 LK (V'}h:cad 8 6 07 48 X 10 10 |385( 10 30 90 - 5 8 WBECRIE | MRLURIE 08 | 0.7 109
(Through (Counterbore. X 0.7 (Thread (Thread X X
CXSo16-40 -hole) depht) 4.4 | dePth) 6 1450 0MIK100 depth) 4.5 | depth) 5 | depth) 8 | 10L | 4L | 2 1
CXS016:50 50 | 10 129
CXSn20-10 10 80 20 104
CXS020-20 20 90 114
- 2-M6
2-M5 2-05.5 il L M6 4-M5 4-M4 Mé | M5
CXS020-30 x0.8 (Through-hole) x M6 30 | 100 x0.8 X0.7 Mﬂ:}?w x | x 124
CXS020-40 | 64 |25 |62 |23 11.5 AL 50|28 | 6 12 |12 30 | 2-09.5 JifLix (Thread 10| 8 1.0 53 x [125| 125 | 45 |7.76 | 40 110 |9.5| 6.5 | 8 TR i3 (;:l'hl":n; 1.0 | 0.8 40 134
. (Through (Counterbore. ad x 1.0 (Thread | (Thread adl x| x
CX8520-50 -hole) depht) 5.3 | depth 6 18.5L 50 | 120 depth) 4.5 | depth) 6 | P | qa | 5L 144
CXS020-75 75 145 10 60 169
CXSo20-100 100 | 170 194
CX8025-10 10 | 82 w0 |10
CXS025-20 . 20 [ 92 200 16
2-M6 2-06.9 i 2-M5x0.8 M6 M6 | M6
CXS025-30 1.0 (Through-hole) | iz X M6 £ || e @;%‘,l; Qgﬁ;};ﬁ x | x 126
CXSn25-40 | 80 |30 |78 |28 14 mAL 60| 35| 6 12 |12 30 | 2-®11 fTALiE (Thread [®12| 10 1.0 64 x 15 15 46 15 40 12 (13| 9 9 (}h!:ad (.:l'hrcad 1.0 1.0 40 136
. (Through (Counterbore. | depth) x 1.0 i x | x
CXS025-50 “hole) depht) 6.3 7.5 18,50 50 122 depth) 6.5 chLI}) depth) 140 | sL 146
CXSu25-75 75 | 147 ) 2 . 171
CXSo25-100 100 | 172 196
CXSo32-10 10 92 40 122
CXSn32-20 20 102 132
- 4-M5 2-M8
CXS032-30 M6 206911 | 5 5.0 e 30 | 12 4G18 | x08 |xiosim | M8 | M8 142
*1.0 (Through-hole) | £ x M8 e seoss | g | X | x
CXS032-40 | 98 |38 | 96 | 36 18 LN 75| 44 | 8 16 (14| 30 | 2-d11 JLALIE ("’Fm"c'xd »16| 13 1.25 76 X 19 19 56 19 40 122 |20 | 11.5| 10 T:th ead T:Fluz't\'i; ;T;\An:d 125|1.25| 50 152
g (Through (Counterbore. | 17" x 1.25 p Thread ) Pthread )yl x
CXS032-50 ey dopht> 63| dePth) 8 L 50 | 132 depth) 6.5 | depth) | de pl\Qh) | oL 162
CXSn32-75 75 157 o 70 187
CX81132-100 100 | 182 212

RO B R ER X 7 R i A AR 45



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

46

STM F %S EL /STM Series cylinder

STM &R %S HI
STM Series cylinder

I STM Z&7%IiTg%8 / STM Series ordering code

| ST™

B 20

20

Z5IRS /Series code

ST™M ‘ﬁ%gfdlﬁ'&/ Double-shaft double action

4hAFHAE / Type of bearing

B |&#EER / Body fixed type

S

BEEIER / Sliding block fixed type

FI12 / Cylinder bore

1742 /Stroke
10 |1---50
16 [1---75
20 |1---100
25 |1---100
SasH/
I 2B S /General data
FI1Z / Bore (mm) 10 16 20 25
TAE/ R /Working medium 235 /Air
ZH{ERIZ /Motion pattern Ezh% /Double action
EE){EMEHEE /Double action operating speed range 0.1 ~ 0.9MPa
{RIEM} E 51 /Ensured pressure resistance 10.5kgf/cm2(1.05MPa)
IMEAR IR E /Environment and fluid temp 5~ 80C
JEERE /Speed Range 50 ~ 200mm/s
2% /Buffering 7 (NO) SHEZE M (ATiE) Shock absorter
#EE O /Pipe size M5x0.8 G1/8
1aMAX 88+1712(Stroke)x2 14MAX 20MAX 105+7 E(Stroke) x2 )
3N 12MAX 1o 3MIN 3MIN hmyg\x gV
L Hrm I - 7%
I M 213405 =3+
ool olH-H PR d it (Boh sdes) &0 i)
HEIE gt @ £ i R
1 1 . o T
4] I } = K|
©8x3.67(dp) - 2-M8x1.0x25 & (Length) 4-05"x6(dp) s 2-M5x0.8
<FL.(Countersink) TREASEY -
(StokoAGhetane scem)
()2 7UIn(outiport 4R (dp) () UIn(outiport 4R(dp)
6 93+/71(Stroke) X2 6 STMS 20
80+{7 #2(Stroke) <2 4 +| i pw
A STMS. 0 £ 2 2 S‘J:Ee 5| 50 | 75 | 100|125 | 150 | 175 | 200
1 T y 4742 Stroks 25 50 75 100 K3 o
A 81 106 | 131 156 J_ | A 94 | 119 | 144 | 169 | 194 | 219 | 244 | 269
sl-4 5 d-n a Sloilols [ i 8 it} B |80 85 | 110 135|150 | 150 | 150 | 150
d t C 50| 80 | 75 (100|120 120 | 120 | 120
° % 1 60 | & L Rl =R <o) O E |35] 45|45 |70 90| 90 | 90 | 90
D o1 _ 4-®4.5 {BFL(Thru.hole) === 5
o 247 xER(ch) o L 40 | 40 || 40 T84 5w (dp) MHA(Countersnk) L—g-‘ 4M5X08x55(p)
. . . . as, - \2:M6> 187 (Thruhole) 2-©9.5x 55%(cp)
4 2045 87T morsink 537 suklLong oo x 6Rcky/ 757 Countersik) <7280 scs)
2-M4 X 0.7 X 435 (dp)
19MAX 116+{7#2(Stroke) X2 19MAX
20MAX, 97+ B (Stroke) x2 WIN | (12 _18max T4l TamN
IMIN | 112, 21mAx 13 IMIN [7]
& TMIN 8 o
i H 5
e e f =z
eEy: o0 f 2 oo}
H f E
e =91 \ams0
S t 2 ~ 2012100 6. x8(dp) e
2448 10 30 # (Lergh . N M5 1030 H(Lengh 4-067 «8R(dp)  ©
TR \4-05% " xCH{dp) 2Max0a AR R
(Steke Aspmm S sorew) (o aacron)
E e 4-M20.4x4%(dp)
%0.8
EE) = AIn(oulport TAdp)
5 87447 82(Stroke)x2 s |STM™: 6 104+(f7 B/Sirokex2) STMS-25
A =70 A e
+ + S";{jfe 25| 50 | 75 | 100|125 150 (175 |200 ° ¥ S‘t‘r{jie 25 | 50 | 75 (100|125 150 | 175 | 200
5| A 81| 103 | 131 | 156 | 186 | 211 |236 |261 o| # % 4l ol A 101 | 126 | 151 | 176 | 201 | 226 | 251 | 276
N [ # B 85| 85 | 85 | 85 | 150 [150 |150 |150 nl: 1 el g B 65 | 90 | 115 | 140 | 140 | 140 | 140 | 140
" 25 oxem) 19 C 35| 60 | 80 [121[120 120 |120 {120 - vd . C 50 | 50 | 75 | 100|100 | 100 | 100 | 100
2exen) 19) 4055 7L Thunol e
245 87 Mot — Sy E | 15| 40 | 40 | 40 |90 |90 |90 |90 PRy [__E_.J 06" x6%(dp) E [35]45 457095100100 | 100
= 65" X871 2 2.5 1.25 7L (Thruhole)

-M6 > 137571 (Thru hole) 2- 7(dp)

55" x77Long o) <6X(c 3kAL(Countersink) < i (Bolh sides)

4-M5x0.8x6:%(dp)/

2116 57%(dp)AAL(Countersink) x i (Both sdes)

RO B REE X7 R i A AR




MGP %% #I MGP Series cylinder

MGP &3!SI
MGP Series cylinder

IMGP Z%5|iTHI%5 / MGP Series ordering code

| MGP M 40 - | 20

ZFIX S /Series code |

MGP ‘ R ERIFE / Attach magnet type |

Eh&FhA / Type of bearing

M 7B ENEh% / Slide bearing type

L SRR S [E%H7K / Ball guide bearing

1% / Cylinder bore

1742 /Stroke

12 |1---100

16 |1---100

20 |1---200

25 |1---200

32 [1---200

40 |1---200

50 [1---200

63 |1---200

80 |1---200

100 |1---200

I s43%/General data
#I1Z / Bore (mm) 10 16 20 25 32 40 50 63 80 100

T {E4v B /Working medium =5 /Air
EERER /Motion pattern % /Double action
EENFERIESITEE /Double action operating speed 04 — 0.9MPa

range

{RIEM}E S /Ensured pressure resistance

10.5kgf/cm2(1.05MPa)

IMERA AR /Environment and fluid temp

-5~80C

SEEIRE /Speed Range

50 ~ 500mn/s [50 ~ 400mn/s

2 /Buffering FAIRIGARE M /Both ends buffer
7K /Bearing TBEhHA, SREESE5HA (Slide bearing/ball guide bdaring)
O /Pipe size M5x0.8 \ G1/8 \ G1/4 \ G3/8
[MGP(®12 ~ d25) | . ORI (rouah) 4-MMR(depth) ML
4-YY:R(depth) YL 4-NNifi fL(through)  XX#(Section . WA (counterbore depthOL L XX(Section)
@ XA,,,i®(depth) XL #B(Section
=| / / :“ 6 D S = ll >¢ b ﬂ
FA s
. - H
¢ &o XA, H ] O
IN o o v
1 B . il o b aEEEEE - {{ | @5 4
x| > x| M z x .
o) u
_Eeey _ ] = &l
13 B o 8| -t =Tff=-—--
| ] = mi e
e \ Xxi#(Section) XA, iR (depth) XL 3 IS8 2P 2-p/ LT DXAH
Z WA PA+{712/Strol %
FA| FB C+{72/Stroke E
" B+{7i2/Stroke
A+{772/Stroke
i1 FRAE(TAZ () B | C |DA/FA|FB| G | GA |GB| H |HA| v | K | L MM MLl NN oA |oB|oOL| P PA| PB | PW|Q|R|S
Bore size| Standard stroke
12 10,20,30,40, 42 |29 |6|8|5/26| 11 |7.5/58 |M4| 13|13 |18 | M4x0.7 [10| M4x0.7 | 4.3 | 8 |4.5) M5x0.8 | 13 | 8 18 |14 |48 22
16 50,75,100 46 |33 |88 |5|30| 11 |8 |64|M4|15] 15| 22| M5x0.8 [12] M5x0.8 | 4.3 | 8 [45] M5x0.8 | 15| 10 | 19 [16]54] 25
20 |20,30,40,50,75,100| 53 | 37 |10/ 10| 6 |36 |10.5/8.5| 83 | M5| 18 | 18 | 24 | M5x0.8 | 13| M5x0.8 | 56 [9.5/55| G1/8 [12.5] 105 | 25 [18 |70 30
25 125,150,175,200 |53.5(37.5(12|10| 6 |42 [11.5) 9 |93 [M5| 21 | 21 | 30 | M6x1.0 |16| Mex1.0 | 56 [9.5(55] G1/8 [125] 135 [285|26|79] 39
HE | AT (m) A L
Borosize| Standardsiroke | T | U | VA | VB ["HENT Tow T mmT ReNT woyaqulmauT 4] X | M| X X0 X W2
12 10,20,30,40, 56 | 41 | 50 | 37 20 40 - 15 25 - 23 3 35 3 6 | M5x08| 10| 5
16 50,75,100 62 | 46 | 56 | 38 24 44 - 17 27 - 24 3 35 3 6 | M5x08| 10| 5
20 |20,30,40,50,75,100| 81 | 54 | 72 | 44 24 44 120 29 39 77 28 3 35 3 6 | M6x1.0 | 12 | 17
25 125,150,175,200 | 91 | 64 | 82 | 50 24 44 120 29 39 77 34 4 | 45 3 6 | M6x1.0 | 12 | 17
MePm | @z A o8 E [MePL | @z A I E
Bore size| 50st> | 50< 50st> | 50< Bore size| 30st< |30st ~ 100st|100st = 30st< |30st~ 100st|100st =
12 42 60.5 8 0 18.5 12 43 55 85 6 |1 13 43
16 46 | 645 10 0 18.5 16 49 65 95 8 |3 19 49
20 53 84.5 12 0 315 20 63 80 104 10 |10 27 51
25 53.5 85 16 0 315 25 69.5 80.5 104.5 13 |16 32 51

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

47



NPPC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

48

MGP &% S#I / MGP Series cylinder

[MGP(®32 ~ ©63) |

4

-YYiR(depth) YL

4-® OAi#L(through)
4-OBE IR

4-MM3%(depth) ML

< A . Wik counterbore depth)OL
/ XX&B(Section) -NNi# 7L(through)  Xx#B(Section) z /—L}* L Xxg(Section)
/ = 1O £
7 1
d 1 O XA g ,l
o o —
x 51 3 o [ T g
. ol a1 {2081
2 > O ——— § X
—r< H @ &
L . E _._? ........ [ L i
. w8 b s ] T -
> o \® XA depth) XL XA GC, = = o 20/ (g,em;; 3
[PA+{712(Stroke] s T
FA | FB C+{7#(Stroke) E
B+{772(Stroke)
A+{712(Stroke)
= e
i1 FRAE(TRZ () B | C [DA/FA|FB |G |GA|GB[6C | H|HA| J | K| L MM ML| NN |OA|OB|OL| P |PA|PB| PW [Q| R | S
Bore size| Standard stroke
32 59.5|37.5[16] 12|10 | 48 [12.5] 9 [12.5[112| M6 | 24 | 24 | 34 |M8x1.25|20|M8x1.25(6.6| 11|75/ G1/8| 7 | 15 | 34 [30] 96 | 44
40 25,50,75,100,125 | 66 | 44 [16[12]|10 | 54| 14 | 10 [14 [120| M6 | 27 | 27 | 40 |M8x1.25|20|M8x1.25|6.6| 11 |7.5| G1/8 [ 13| 18 | 38 |30 104 | 44
50 150,175,200 72 | 44 [20|16]12 |64 | 14 | 11 [12 |148| M8 | 32 | 32 | 46 |[M10x1.5|22|M10x1.5|8.6] 14| 9 |G1/4 | 9 |215| 47 40| 130 | 60
63 77 | 49 [20|16]12 | 78 [16.5[13.5[16.5|162|M10| 39 | 39 | 58 [M10x1.5|22 [M10x1.5[8.6] 14| 9 |[G1/4 [14]| 28 | 55 |50 130 | 70
RS FOEITIE (mm) WA WB
Bore size| Standard stroke U v 2 iE 25st 50st/755t/100st “:’:‘:l:’ 255t 50st/755t/100st w:f;:" X 0 EE XC XL W ik z
32 110 | 78 | 98 | 63 24 48 124 33 45 83 42 | 4 | a5 3 6 |M8x1.25] 16 | 21
40 25,50,75,100,125 | 118 | 86 | 106 | 72 24 48 124 34 46 84 50 | 4 | 45 3 6 |M8x1.25| 16 | 22
50 150,175,200 146 | 110 | 130 | 92 24 48 124 36 48 86 66 | 5 6 4 8 |M10x1.5] 20 | 24
63 158 | 124 [ 142 [ 110 | 28 52 128 38 50 88 80 | 5 6 4 8 |M10x1.5] 20 | 24
MGPM MGPL
i1 A DB E HI1Z A =
- = DB
Bore size | 50sts| 505t<200st >| 200st<| __|50sts |50st<200st >|2005t<| | Bore size 505t > [50st<100st>|  ooos  |200st<| " |50st > |50st<100st > |100st<200st > | 200st<
32 97 102 140 |20] 375 425 80.5 st =
20 97 102 120 20| 31 % 74 32 81 98 118 140 |16 215 38.5 58.5 80
50 11065 18 161 25| 345 26 89 40 81 98 118 140 |16| 15 32 52 74
63 [106.5] 118 161 |25] 295 M 84 50 93 114 134 161 120| 21 42 62 89
63 93 114 134 161 |20] 16 37 57 84
[MGP(®80 ~ ®100) |
P AR oo XXEB(Section) Z.. W e . Oseaion
/Wéﬂ_si_c()ﬁ ) 157.5) @) 1 (counterbore depth)OL Y
— & o ] § Oy \5‘/
—
LI o " 8 |4
< | B : 148 (O 0B v e BEE
Lt =
i
— o o
I 446 JTD _ « :
7 |\ } Q B = o s B
sl
@ XAsR(depth) XL/ L—S—’] ;i%;} ko) |§E \L B, (g’em‘)ﬁ;(ﬁ
FA| FB C+{T2(Stroke) E 2P 2P,
B+{37%(Stroke)
A+{7#2(Stroke)
= e
EfE | AT (m o e lrs | 6 |6 | aB lac | H | HA| J |LA|B |k | L WM [ML| NN OA [ OB |OL| P | PA | PB| PN |Q
Bore size| Standard stroke
80 |25,50,75,100,125|95.5|56.5|25 |22 [18 | 91.5 | 19 [15.5[14.5|202|M12]45.5|38 |7.5 |46|54 |M12x1.75|30 |M12x1.75|10.6|17.5| 8 |G3/8| 14.5 |255| 74 |52
100 150,175,200 [ 116 | 66 |30|25[25 [111.5] 23] 19 [18 |240|M14[55.5|45[10.5 [56]62 | M14x2.0 | 32| M14x2.0 [12.5] 20 | 8 [G3/8] 17.5 [32.5] 89 |64
RS FOEITIE (mm) WA WB
Bore size| Standard stroke U v W W 25t | s0st/7sst/t00st | 90T o 25t |sost/sst/tonst | 1008t or X e | e | WY Wi Z
80 25,50,75,100,125 | 198 | 156 | 180 | 140 | 28 52 128 42 54 92 100 6 | 7 | 5 | 10 | M12x1.75 | 24 | 28
100 150,175,200 236 | 188 | 210 | 166 | 48 72 148 35 47 85 124 6 | 7 | 5 | 10 | M14x20 | 28 | 11
MGPM L
J A E
FIfE A - E i1 100st< DB
Bore size | 50st< |50st<200st = |200st< 50st< | 50st<200st = |200st< Bore size|50st = |50st<100st = 200st > 200st< 50st = |50st<100st = [100st<200st = |200st<
80 115 142 193 |30 18.5 45.5 96.5 80 |109.5 130 160 193 [25| 13 33.5 63.5 96.5
100 | 137 162 203 |36 21 46 87 100 | 121 147 180 203 [30] 5 31 64 87

RO B REE X7 R i A AR




NRPRC

_ ) ~ PNEUMATIC
1SO #RAES L Z M4 / 1SO Standard cylinder accessories

| ISO-CA (2E3IR)
ISO-CA (Single earring)

-
P4
w
P4
5
— o
© | © :
E—i 5
(&)
(&)
\ o0 2
<
‘S[ “ ( 5
BE/ES | 3 | 40 | s0 | 63 | 80 | 100 | 125 | 160 | 200 = \% 5
Bore/Symbol —= <
s 47 | 52 | 64 | 74 | 94 | 113 | 139 | 180 | 220 7S g
T 325 | 38 | 465|565 | 72 | 89 | 110 | 140 | 175 @% \C‘J/ S e &
DC 22 | 25 | 27 | 32 | 36 | 41 | 50 | 55 | 60 = 1 o
DD 9 [105| 11 | 135|145 17 | 22 | 30 | 30 Q
DE 10| 12|12 16 | 16 | 20 | 25 | 30 | 30 ar . DbC |
DJ 13 | 16 | 17 | 22 | 22 | 27 | 33 [355| 37 | us
DQ 25.8 | 27.8 | 31.7 | 39.7 | 49.7 | 59.7 | 69.7 | 89.7 | 89.7
| ISO-CB ( WEIf) .
ISO-CB (Double earring) B
bl
I
&
os #2
AR N —
.//\_\\\  E—
< 9 \& &
IR/ 5 m F
Bore/Symbol 32 40 50 63 80 100 125 160 | 200 )_J;[E &%
cc 22 | 25 | 27 [ 32 | 36 | 41 | 50 | 55 | 60 L | L] ]
DD 9 [105| 11 | 13 | 14 175|215 30 | 30 ~
1 far) —
CE 10 | 12 | 12 | 16 | 16 | 20 | 25 | 30 | 30 @ & N2 =
cJ 13 | 16 | 17 | 22 | 22 | 27 | 33 | 355 36 T or i
CcP 26 | 28 | 32 | 40 | 50 | 60 | 70 | 90 | 90 or CC
cT 45 | 52 | 60 | 70 | 90 | 110 | 130 | 170 | 170 AL
PA1 51 | 59 | 67 | 77 | 97 | 119 | 139 | 181 | 181
S 47 | 52 | 64 | 74 | 94 | 113 | 139 | 180 | 220
T 325| 38 | 465|565 | 72 | 89 | 110 | 140 | 175
I |ISO-CR
[#z/ %s
Bore/ 32 | 40 | 50 | 63 | 80 | 100 | 125
Symbol
BG 18 | 22 | 30 | 35 | 40 | 50 | 60
BH | 31[35|45|50 60|70 90 50 @
oy BI 21 | 24 [ 33|37 |47 | 55| 70 |BL o
veE BL 8 10 | 12 | 14 | 14 | 17 | 20 — —
BM | 32| 36| 45 | 50 | 63 | 71 | 90 ] ] — B
BN 38 | 4150 | 52 | 66 | 76 | 94 Sz z i &
BO [ 51[54|65]|67 | 86| 9 |124 S
BR 20 | 22|26 [ 30|30 | 38| 45 & ) =6
D 10 | 12 | 12 | 16 | 16 | 20 | 25 go
BQ 26 | 28 | 32 | 40 | 50 | 60 | 70
I ISO-FA/FB (i£=1R)
ISO-FA/FB (Flange)
e
g 5
2222 :
Y ;{‘-'\\f .
—
e e © © =
Bore/Symbol 32 40 50 63 80 100 125 160 200 ¢ @‘31" @
BA 305 | 35.5 | 40.5 | 45.5 | 45.5 | 55.5 | 60.5 | 65.5 | 75.5
BB 10 | 10 | 12 | 12 | 16 | 16 | 20 | 20 | 25 22 —r
BC 47 | 53 | 65 | 75 | 95 | 115 | 140 | 180 | 220 J
BD 32 | 36 | 45 | 50 | 63 | 75 | 90 | 115 | 135 N o
BE 80 | 90 | 108 | 118 | 150 | 176 | 218 | 280 | 320 N @% @%  —
BF 64 | 72 | 90 | 100 | 126 | 150 | 180 | 230 | 270 am ™
BP 7 | 9 | 9 | 9 |125|145]|165|185| 24 - =
T 32.5| 38 | 465|565 | 72 | 89 | 110 | 140 | 175 BE

RO B R ER X 7 R i A AR 49



NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

50

1SO #R#ESELZ % M4 / 1SO Standard cylinder accessories

ISO-TC ( #%)
ISO-TC (Central trunnion)
H1Z /S
Bore/ 32 | 40 | 50 | 63 | 80 | 100
Symbol
EB 100 | 113 | 125 [ 140 [ 160 | 182
EC 52 | 63| 74 | 80 [105] 128
ED 325 | 38 [465|565] 72 | 89
EE 52 | 63| 75 | 90 [105] 128
EG 25 | 25|25 | 25 [ 25| 25
EP 12 [16 [ 16 | 20 [ 20 | 25
TC 20 [ 22 [ 22| 28 [28] 34
HC 37 [ 4555 | 68 | 87 [ 1075
I ISO-LB ( Z%8)
ISO-LB (Foot bracket)
s7Z AN\
Yo 9@
HE /e
Bore/Symbol 32 40 50 63 80 100 | 125 | 160 | 200
AA 325 | 38 |[46.5|56.5| 72 89 110 | 140 | 175
AD 8 9 10 12 19 19 20 20 30
AE 47 53 65 75 95 | 115 | 140 | 180 | 220
AF 32 36 45 50 63 75 90 | 115 | 135
AG 24 28 32 32 41 45 45 60 70
AP 7 9 9 9 12 | 145 | 165|185 | 24
AT 3 3 3 3 4 4 6 6 9
I ISO-Y (#%3%)
4, |1SO-Y (Joint)
i? /{
& f § 2
[Is0-Y-Pin | [iso-y-Clip |
HE /e
Bore/Symbol 32 40 50 63 80 100 125 160 200
YA 19 25.4 32 32 444 | 444 55 70 70
YC 10 12 16 16 20 20 30 35 35
YD 40 48 64 64 80 80 110 144 144
YH M10x1.25 | M12x1.25 | M16x1.5 | M16x1.5 | M20x1.5 | M20x1.5 | M27x1.5 | M36x2.0 | M36x2.0
YM 10 12 16 16 20 20 30 35 35
YP 20 24 32 32 40 40 54 72 72
YQ 52 62 83 83 105 105 148 191 191
PA 26.2 | 32.8 | 39.3 | 39.3 | 53.3 | 53.3 64 80 80
i ISO-1 ( $3k )
ISO-I (Joint)
®
iR/ He
Bore/Symbol 32 40 50 63 80 100 125 160 200
IC 10 12 16 16 20 20 30 35 35
ID 40 48 64 64 80 80 110 | 144 | 144
IE 52 67 89 89 112 112 155 | 201 201
IH M10x1.25 | M12x1.25 | M16x1.25 | M10x1.5 | M10x1.5 | M20x1.5 | M20x1.5 | M36x2.0 | M36x2.0
IG 20 20 23 23 30 30 56 72 72
IF 15 24 32 32 40 40 50 50 65}
IM 10 12 16 16 20 20 30 35 35

EB
0.1
EE .04 EG
ET
dHC
*
ﬁ/\ﬁﬁ o
4 : :
‘EK_/?
\
CED
AA
= o oAP
AG AD [}
AF —
AE =
=2
o -
-
a
A
1\ VA
YH
M
]
1 — 8
&, (
=}
8
9
H

RO B REE X7 R i A AR



NRPRC

PNEUMATIC

1SO #RAES AL Z M4 / 1SO Standard cylinder accessories

ISO-UJ (Fah#E% )
ISO-UJ (Float joint)

LF
5
2 /155 MA | MB | MC | MD | ME | MF (MG | MH Ml MJ MK
Bore/Symbol
8/10 26 | 9.5 17 1118/ 55| 3 | 4 M4x0.7 M4x0.7 | 14
12/16 345(13.5/35| 23 |13.8(75| 4 | 6 M6x1.0 M6x1.0 | 14
20 51 | 20 17 | 34 |11.5| 6 | 8 | M8x1.25 | M8x1.25 | 13
25/32 58 | 22 21| 26 |11.5| 6 | 10 |M10x1.25| M10x1.25 | 12
40 58 | 22 21| 28 |11.5| 7 | 12 [M12x1.25| M12x1.25 | 12
50/63 90 | 27 41 |445| 19 | 8 | 17 | M16x1.5 | M16x1.5 | 7
80/ 100 102 | 29 46 | 53 | 22 | 10 | 22 | M20x1.5 | M20x1.5 | 10
| ISO-PHS ( &RIZEL)
ISO-PHS (Fisheye joint)
N
‘L )
= =
5 /5 | pp | pg | pe | PD | PE | PR PG PH| Pl | PJ |PK
Bore/Symbol
8/10 6 | 18 10 | 27 | 36 | M4x0.7 |13 [125] 10 | 8
12/16 6.8 | 20 12 | 30 | 40 M6x1.0 13 | 13 1] 9
20 9 |24 16 | 36 | 48 | M8x1.25 | 13 | 16 | 14 | 12
25/32 11 | 26 21| 43 | 56 | M10x1.25 | 13 | 19 | 17 | 14
40 12 | 30 24 | 50 | 65 | M12x1.25 | 13 | 22 | 19 | 16
50 /63 15 | 38 33 | 64 | 83| M16x1.5 | 15 | 25 | 22 | 21
80/100 18 | 46 40 | 77 | 100 | M20x1.5 | 15 | 31 27 | 25
125 37 | 70 51 | 110 | 145| M27x2.0 | 15 | 46 | 41 | 35
160 /200 43 | 80 56 | 125|165| M36x2.0 | 16 | 57.5 | 50 | 43
| Y ($#%)
Y (Joint)
= =
1%/ S NA | NC | ND NH NJ NK | NM | NP | DQ | PA | PB
Bore/Symbol
32 19 10 40 |M10x1.25| 12 18 10 20 52 25 | 195
40 254 | 12 | 48 |M12x1.25| 20 | 23 | 12 | 24 | 62 |328|26.5
50/63 32 | 16 | 64 | M16x1.5 | 22 | 30 | 16 | 32 | 83 |39.3| 33
80/100 444 | 20 80 | M20x1.5 | 30 39 20 40 | 105 | 53.3 | 45
125 55 25 | 110 M27x2 30 54 48 64 | 148 | 64 55
160/200 80 | 30 | 120 | M36x2 40 | 54 | 40 | 35 | 150 | 91 81
| I (#K)
| (Joint)
= =
12/ S NB [ NC | ND | NE | NF | NG NH MN
Bore/Symbol
32 20 10 40 52 15 20 |M10x1.25| 10
40 24 12 48 67 24 20 |M12x1.25| 12
50/63 32 16 64 89 32 23 | M16x1.5 | 16
80/100 40 | 20 | 80 | 112 | 40 | 30 | M20x1.5 | 20
125 45 25 | 110 | 155 | 40 56 M27x2 48
160/200 54 30 | 120 | 130 | 35 50 M36x2 40

PA
PB

PK

p
PJ

NA
NM:3:

(=¥

FLUID AUTOMATIC COMPONENT

ik BETY

MN3F

LT

T
o NB

RO B R ER X 7 R i A AR

51



NRPRC

PNEUMATIC  _
R SR 22 2 M4 / Standard cylinder accessories
I CA (#HIF)
E CA (Single earring)
w
P4
e}
S as pc _DpJ
o}
o aT
2 o DQ-6.
<
2 |
= FIfE /55
5 =/ 755 i
é Bore/Symbol 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 <+ &+ DD
5 S 48 | 50 | 62 | 75 | 94 | 112 | 140 | 180 | 220
T T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175 Va
DC 34 | 34 | 34 | 34 | 48 | 48 | 50 | 55 | 60 1/
DD 14 | 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30 $DE
DE 12 | 14 [ 14 [ 14 | 20 | 20 | 25 | 30 | 30
DJ 14 | 14 | 15 | 15 | 20 | 20 | 25 | 30 | 30 i & |
DQ 16 | 20 | 20 | 20 | 32 [ 32 | 70 | 90 | 90
. | CB(WEIF)
E CB (Double earring)
m
s os
s or
CT cc_cJ
S -
HR /S & | I | ] cp
Bore/Symbel | 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 | <
cc 19 | 19 | 19 | 19 | 32 | 32 | 50 | 55 | 60 . - i i
cD 5 | 5 | 3| 2| 8| 8 | 25 | 3 | 30 — | N oCE
CE 12 | 14 [ 14 [ 14 | 20 | 20 | 25 | 30 | 30 N [ S
cJ 13 | 13 [ 15 [ 15 | 21 [ 21 [ 25 | 30 | 30 b ®
cP 16 | 205|203 203|323 [323] 70 | 90 | 90 PA1
cT 32 | 44 | 52 | 52 | 64 | 64 | 120 | 160 | 160 i PB1 |
PA1 41 |51.8 (603603738738 130 | 170 | 170
PB1 335|458 | 54 | 54 | 655655 121.5(161.5/161.5
S 48 | 50 | 62 | 75 | 94 | 94 | 140 | 180 | 220
T 33 | 37 | 47 | 56 | 70 | 70 | 110 | 140 | 175
i TC-M/TC
8l .
w
p Bﬁlﬁ/ S | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200
e ore/Symbol
EC EB 113 | 126 | 138 | 164 | 182 | 210 | 264 | 336
R Be EC 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
Bore/Symbpt | HA | HB | HC | HD | HE | HF | HI | HJ | HQ | HR | HT | HP ) 37 | 47 | 56 | 70 | 84 | 110 | 120 | 175
40 110 | 80 |455| 22 | 109 | 86 [815| 50 | 23 | 2 | 12 | 12 EE 63 | 76 | 88 | 114 | 132 | 160 | 200 | 240
50 110 | 80 |555| 22 [ 122 | 99 [ 88 [ 50 | 23 | 2 | 12 | 12 EG 25 | 25 | 25 | 25 | 25 | 25 | 32 | 48
63 110 | 80 |685| 22 [ 134 | 111 | 94 | 50 | 23 | 2 | 12 | 12 EP 25 | 25 | 25 | 25 | 25 | 25 | 32 | 37
80 120 | 85 |875| 22 | 160 | 137 [ 127 | 70 | 23 | 2 | 14 | 14 ET 30 | 30 | 30 | 30 | 40 | 30 | 38 | 44
100 120 | 85 [107.5| 22 | 178 | 155 [ 136 | 70 | 23 | 2 | 14 | 14 S 455 | 555 | 68.5 | 87.5 |107.5/134.5(172.5/212.5
N 2L
I FA/FB (iE£=1#)
FA/FB (Flange)
BC
a& BD H
W /S | |
Bore/Symbol | 32 | 40 | 50 | 63 | 80 | 100 | 125 | 160 | 200 @ Py
BA 283|323 (383[383|473(47.3| 56 | 63 | 81 e |
BB 10 | 10 10| 12|16 [ 16 | 20 | 25 | 25 2 -@-
BC 47 | 52 | 65 | 76 | 95 | 115 | 140 | 180 | 220 /‘ \
BD 33 | 36 | 47 | 56 | 70 | 84 | 90 | 115 | 135 s 3
BE 72 | 84 | 104 | 116 | 143 | 162 | 224 | 280 | 320 \/ -
BF 58 | 70 | 86 | 98 | 119 | 138 | 180 | 230 | 270 A v
BH 65| 65| 65 | 85 |105|105| 15 | 20 | 20 2 '@'4-9“( <
AJ 105 105] 135|135 5 | 5 | 19 | 25 | 25 A &
AK 65| 65| 65 | 85 | 105|105 | 125 | 165 | 16,5 b )
BP 7 7 9 9 [ 1| 1n]16]18]22
T 33 | 37 | 47 | 56 | 70 | 84 | 110 | 140 | 175

A AR 8 M AR
52




SELEH# / Assembly kits for pneumatic cylinder

SHELE M /Cylinder kits

H1Z i ki ke FEER ki 1 Vi ki
Model Product Specification Model Product Specification Model Product Specification
P AKES
p AKES "
ke - (Bore size)
= - (Bore size)
N | s NN Siiow | siEk PRI scxp ) o
(15015552) * AN 4 / ®50 (Sl Kits) ~ % 63/ 080, | (SCKits) 3 63/ D8O /
s ®63/ D80 | (ISO6431) & | ®100
(vOMA24562)| 4} L 1100 AP E ~” oron 60 (P el ®125/ 160/
D125 o © 200
@200 ©250 / 320
1R
DSN &£t (o sz W2 | (ponae | waL =4 o o)
Ut 3 (3]
(DSN Kits) G8/O10/ D12 MAZH | 89 ‘)) ®16/®20/ | (MALKits) | . \D 16/ 020 /
(1S06432) P16/ ®20/ | (MAKits) '\u,J 25 A 25
®25 5 \ . b |
R ®32/ D40 a4 32 / ®40
= 17 - a 3 o
|—\ﬁIi%1 R iBZEHF / Tube and piston rod for pneumatic cylinder
H1Z i g fiakEs FEER ki 1 i ki
Model Product Specification Model Product Specification Model Product Specification
P FiAkeS
- FARES -
ke (Bore size) (Bore size)

SC/MALL [& ®16/020/25/

T . (Bore size) S| KFEH
2";; fﬁ’e / ®32/ D40 | & /Mickey ' ¢32®’5q840/ % IRound D32/ D40 D50
S b : / / ®50 mouse i aluminum 63 / D8O/

aluminum = ©63/®80 | aluminum @63/ ©80/ tube 100

tube »100

-

/ ®100 tube
125

125/ ®160 /
200
®250 / 320

125/ P160 /
200

~ =3
SDA 3% / (Bore size) ?__;ig?#g) D10/P12/ S (E ©8/P10/D12/
AIuminuEm ®12/016 /D20/ sZinIeZs ®16/P20/ | $&) /Piston / ®16/D20/D25/

#14% /Bore £I12 /Bore
e DRI Size: 0608/ | FERHF 45 Size:D4/P6/
tube D25/P32/D40/ e ©25/032/ |rod(45# Steel D32/D40/P45/
D50/P63/D80/ tube(High D40/P50/ chrome- D50/P60/D70
100 (Hig DB3/D8O/ plated) =2 Et
precision) ©100

AFRRERLE, TEEENFEENSEBENETLEZE, AUBEERIT, LR, EFFEKE BNTURERZPOERSFRREE PR, FEH=H, E-RBHEHEE
KiE. MBHEHZRFEL, BEREKR, THEREN, RIMNESRBRENRBRTR.
Our company has R&D department,can research,develop and produce all kinds of cylinders with advanced technology and sufficient professional experience.We can research

and develop new products according to customer's drawing,and strive all products for excellence.If you have new product to develop,please don't hesitate to contact us,we will try our
best to help you.

RO B R ER X 7 R i A AR

NRPRC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

ik BETY

53



PNEUMATIC

R
Product

ik
Model

RN
Contact type

AR E
Working voltage

Rt

Doameter

& SELRE
Joint pipe bore

NL-03R

R/ HEER
Amagnetic reed
switch contact

NL-O3N

FciES /NPN &
Contactless NPN
transistors

NL-03P

FiES /PNP &
Conta ctless PNP
transistors

»I Ols [ P=omse
41| 1000520
N I;H:

ID 150+10_|

5-240V DC/AC

5-30V DC/AC

5-30V DC/AC

ERT: BERSE/ RAFSE
For:Tie-rod cylinder round cylinder

(=)

NL-15R

AR/ HMEER
Amagnetic reed
switch contact

NL-15N

FiES /NPN &
Contactless NPN
transistors

NL-15P

FeiES /PNP &
Conta ctless PNP
transistors

5-240V DC/AC

5-30V DC/AC

5-30V DC/AC

ERAT: BERSE/ RATSE

For:Tie-rod cylinder round cylinder

NL-20R

AR/ HMEER
Amagnetic reed
switch contact

NL-20N

FeiES /NPN &
Contactless NPN
transistors

T Dt
< 12552

|_1060225]

jroy @mm ‘

5-240V DC/AC

5-30V DC/AC

NL-20P

FeiES /PNP &
Conta ctless PNP
transistors

113

5-30V DC/AC

9 =y (ol
C YA
o ° ‘ © (®

EATF: SC / SUKE
For:SC/SU cylinder

NL-21R

AR/ HEER
Amagnetic reed
switch contact

741
e —

NL-21N

FeHES /NPN &
Contactless NPN
transistors

Rl i

1000+20

|-13_] T50E10

NL-21P

FeiES /PNP &
Conta ctless PNP
transistors

5-240V DC/AC

5-30V DC/AC

5-30V DC/AC

Ofe}e

EATF: SC / SUSKEL
For:SC/SU cylinder

NL-31R

AR/ HMEER
Amagnetic reed
switch contact

7+1

NL-31N

FeHES /NPN &
Contactless NPN
transistors

e
“’I 25:2

50! 1000+2o\

t
o= —— e | S |
13 |__150£10 |

’E]f"

NL-31P

FiEs /PNP &
Conta ctless PNP
transistors

5-240V DC/AC

5-30V DC/AC

5-30V DC/AC

— g 2*0

[ 1530
+0.51 —
45707 33707

' _les 23"

iEMATF: DNC SEL
For:DNC cylinder

BK-81
BK-82

BK & FI[EE W
BK fixed metal band
series

PAB-01
PAB-02

PBN ZRFEENT
PAB fixed metal
band

PN

PN R5IEE W
PN fixed metal band
series

PAC

PAC %71
PAC fixed clamp
series

PM

PM %731
PM fixed clamp
series

Pl

Pl &%l

Pl fixed clamp series

A FHR BRI S B HOARF
54




N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

FDG 1ISO15552
FDG Series ISO15552 Standard cylinder

IFDG

ZFIX S /Series Code

FDG: 1SO15552 tr S shE
1SO15552 Standard Double Action Type

FDGD: 1SO15552 #R/E R4S shE
1SO15552 Standard Two Axis Double Action Type

FDGJ: 1SO15552 M 4h{TH2 AT AL
Two Axis Stroke Adjust Type

/ DNS Series ordering code

| FDG |

| 160 |

| 100 |

#1472 /Cylinder Bore

160mm~320mm

1772 /Stroke

TAJIF{T4E /Adjust Storke

25:25mm

50:50mm

75:75mm

HiA1K S /Magnet Code

= F4RAER! /Blank Without Magnel

S WERIE /S With Magnet

EE R /Fixed Type

Z[: E AR /Blank :Normal type

LB: mifEEEA! /Front and back fixed type

FA: AiZBEIZER! (Fi3AZ) /Front cover fixed type (Front flange type)

FB: FE=EIER (J3%=) /Back cover fixed type (Back flange type)

CA: F&EIER (BHIF) /Back cover fixed type (Single flange type)

CB: fg&REIER (WEI) /Back cover fixed type (Double flange type)




N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

/Specifcation

M4 (mm) /Bore (mm) 160 [ 200 [ 250 | 320
YERR /Motion Pattern 4% /Double Action

T £/ R /Working Medium 751 IAr

BElEHR AR FAL, FBAY, CA %Y, CBA, LB, TCH!

Fixed Type Normal type FAtype. FBtype. CAtype. CBtype. LBtype. TCtype

{88 F3 £ 713 [l /Working Pressure Range 0.1~1.0MPa

{RIEM /7 /Ensured Pressure Resistance 1.5MPa

{5 iR B °C /Operating Temperature Range -5~60°C

{5 iR B 3B /Operating Speed Range 50~500mm/s

22 AR /Buffer Type T[22 0 /Adjustable Buffrr

& O /Port Size G3/4" [ G1"

;78 /Lubrication AN EE [ Cn S5 223354 7 1ISOVg32 JiEi i) /Not required (Use Turbine oillSO Vg32 when necessary)

/Overall Dimensions

H B A+{TEE _
c D B ihagiE D | E
T = __.____éi_____________@_____ al
K~ (FiEE )W ?
G 2-0 G_|
/Dimension Sheet
AE (mm) 55 /Bore(mm) A B C D E P G H | J K L M S T (0]
160 180 80 60 50 6 65 25 72 65| 40 | M36*2 | M16 | ®25dp30| 180 140 G3/4"
200 180 95 70 50 6 75 25 72 O75| 40 | M36*2 | M16 | ®25dp30| 220 175 G3/4"
250 200 105 | 67 52 10 90 31 84 90 50 | M42*2 | M20 30 270 220 G1"
320 218 120 | 82 52 10 110 31 96 110 63 | M48*2 | M24 34 340 270 G1"




CM2 ANEHNIRAR

CM2 Series Standard Steel mini cylinder

ICM2 | CM2 Series ordering code
| cm2 | | 32 | - | 150 | | A
Z5IK S /Series Code
CDM2B Kz #;¥7 8! /CDM2B Nonmal Type
1% /Cylinder Bore
20mm~40mm
1742 /Stroke
0~1000mm
284 /Buffer
= A : BEE A /Blank:Buffer
A: S4E8% /AAir Buffer
/Specifcation
#f& (mm) /Bore (mm) 20 25 | 32 40
TAE4r &R /Working Medium 25 Air
HIERR /Fixed Type )R
{RIEM}E 77 /Ensured Pressure Resistance 15.3kgflcm? (1.5MPa)
T =15 F £ 17 /Max.pressure 10.2kgf/cm? (1.0MPa)
# K 15E F £ 71 /Min.pressure 0.5kgf/cm? (0.05MPa)
1 RSB °C /Operating Temperature Range -10~+70°C
{8 F33% EE 3E [l /Operating Speed Range 50~750mm/s
#Z% /Buffering BEER (Bof) SEH (Ei%)
1788 2A% (mm) /Margin of Stroke Error(mm) +1.4
0mm
EE O /Port Size G1/8" G1/8" | G1/8" | G1/4"
/Intemal structure
NO. & #5 IDesignation
1 Rz /Front Cover
2 &5 /Back Cover
3 FLE /Barrel
4 &2 [Piston
5 SEZEAT /Piston rod
6 2 5h%h7% /Ciled Bearing
7 His % £ /Front Cover Seal Ring
8 BhE# F /Anti-crash cushion
9 SEEZEIE /Piston Seal
- — 10 it B53F /Wear Ring

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT



N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

/Overall Dimensions

(Width across flats)B,

(Width across flats)B

/Dimension Sheet

S+Stroke
ZZ+Siroke

&2 (mm) | {T#EEE [ A |AL|B1[B2| D | E | F |G| H |H1[H2[ 1 K MM N | NA NN P S 7z WA WB
Dimeter | Stroke range
20 -300 18 |155( 13 (26| 8 | 20 |13 |8 |41 | 5|8 28 [ 5 | M6*1.26 | 15 | 24 [M20*1.5 1/8 62 116 1.5 8.5
0.033
25 -300 22 (195117 | 32| 10| 26 [13|8 |45 6 [8]33.5| 55 |M10*1.25( 15 | 30 [M26*1.5| 1/8 62 120 1.5 10
0.033
32 -300 22 [195]17 | 3212 26 [13|8 |45 6 | 8]37.5| 55 |[M10*1.25| 15 | 34.5 [M26*1.5| 1/8 64 122 15 [ 115
0.033
40 -300 24 [ 2122|4114 32 [16 |11[ 50 [ 6 [10]46.5] 7 | M14*1.5 [21.5]| 425 | M32*2 | 1/4 88 154 14 15




CJ2 ANEHN IR AR

CJ2 Series Standard Steel mini cylinder

ICJ2 / CJ2 Series ordering code
ce| - | 10| - | 60 | - |
Z5IX S /Series Code
CD2B £##i#! /CD2B Nonmal Type

CDJ2B: & #iIFH! /Attach Magnet Type

#1412 /Cylinder Bore
6mm-~16mm

1742 /Stroke

0~200mm

EHYE /Action
S: Bz GHEERE]) /S:Single action (with spring retum)
T: 85 GEEEWE) /T:Single action (with spring extent)

TEREIRAIESILA R
The type of air hole on the
head cover end

{iL1% /Bore 6 10 ®16
il /Mark
Fid & /Blank - EEH /Verbacal
R 4[5 /Horizontal
/Specifcation

A2 (mm) /Bore (mm) 6 [ 10 [ 16

TAE/ R /Working Medium =5 /Air

ZHERR [Fixed Type 1% /Double action

{RIEMTE J1 /Ensured Pressure Resistance

1.05MPa (10.5kgf/cm?)

=18 M E S /Max.pressure

0.7MPa (7.1kgflcm?)

AR FE 7 /Min.pressure

0.25MPa (2.5kgf/lcm?)

0.15MPa (1.5kgf/lcm?)

1§ AR E Bl °C /Operating Temperature Range -10~+70°C
{5 iR S B /Operating Speed Range 50~750mm/s
2% /Buffering FIRIGRE R (47f) /Both Rubber buffer(Standard)
17H22A% (mm) /Margin of Stroke Error(mm) 51. 0
mm
$#E O [Port Size M5*0.8

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT



N2RC

PNEUMATIC

/Overall Dimensions

Normal Type
8
NN au. Pe M5 0.8,
MM Pipi M5 0.8 49
L o \— I : :
CJ28 maimarsmal =RV = 7
e = N S D
A B T NA NB
H S+Stroke =B
Z#+Stroke
-]
[
i = GA _Piping port (M5X0.8) B
MM = GA Piping port (M5 0.8)
¢D -
g% e % E z
CJ2B10/16 mesEEiS . &l § g_
1
A E NA NE
H S+Stroke y
Z+Stroke Port location on head cover:

/Dimension Sheet

EIE (mm) | A B C|[D|F|GA|GB | H MM NA NB | NDh8 | NN S T z
Dimeter

6 15 [ 12 | 14 | 3 | 8 |14.5] - 28 | M3*0.5 | 16 7 6 M6*1.0 | 49 3 77

10 15 [ 12 |14 ] 4 | 8 8 5 28 | M4*0.7 [125]| 9.5 8 M8*1.0 | 48 - 74

16 15 | 18 | 20 | 5 | 8 8 5 28 | M5*0.8 |125| 9.5 10 |M10*10| 47 - 75




CJP ki

CJP Series Needle cylinder

ICJP / CJP Series ordering code
CJP - 10
Z5 S /Series Code
CJPB it 2 3¢ 7
CJPS i

#14Z /Cylinder Bore
6mm~6mm
10mm~10mm
15mm~15mm

1742 /Stroke
0~30mm

24 /Thead Type

75 ATIE4L /Blank:With Thread

B: JCHRL /NO.Thread

/Specifcation

A& (mm) /Bore (mm)

6 I

10

15

T 1£4v Bt /Working Medium

=5 /AIr

ZHERR [Fixed Type

Ex)/ B (38EER) /Double action/Single Action(Drawing Type)

{RIEMI E 17 /Ensured Pressure Resistance

10.5kgf/cm? (1.05MPa)

= 18 F & 11 /Max.pressure

7kgflcm? (0.7MPa)

SR AK{E A E 77 Min.pressure

2kgflcm? (0.2MPa)

1.5kgf/cm? (0.15MPa)

& FiREEE °C /Operating Temperature Range 5~+60°C

4& 7 /Buffering NO

17#2A% (mm) /Margin of Stroke Error(mm) +1.0
Oomm

FEEO1R /Port Size

M5*0.8 TR &2 % &! /M5*0.8 Panel mount Type

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT



NRC

PNEUMATIC

/Overall Dimensions

Exhaust Port

et o

M5 0.8

Panel Mounting Style
CJPB

FLUID AUTOMATIC COMPONENT

with rod end thread

/Dimension Sheet

az/ge mm)| A [ B |[C|E F 0G| H | K| Mm NN R S w z Q
Bore(mm) 5st | 10st | 15st 5st | 10st |15st 5st | 10st | 15st

6 7 | 12 [13.9] 6 [125[19.5[265] 85 | 9 |35|m305]|mi0*1.0] 9 |185| 225 [325| 3 |275]|345][415] 3

10 10 [ 19 [ 22| 6 |145] 21 | 28 | 12 | 12 | 35 | m4a*0.7 [M15*1.5] 13 [ 205 27 |34 | 4 [325] 39 | 46 | 5

15 12 | 27 | 31| 7 |165[225] 29 | 19 | 14 |42 | m5*0.8|M22#1.5]| 20 [235| 295 [ 36 | 5 |375]/435] 50 | 6

/Overall Dimensions

Exhaust Port
Baore ¢ 6:C0.5
¢ 10,15:C1 MM.
"-‘ — i R
| siccilmm Kl
(Plug Mounting Style) = : ] 3
CJPS [ { 1
LE, £
A E E
with rod end thread B  —
/Dimension Sheet
az/ge mm)| A [ B[ Cc|E F G| H | K| Mm NN R S w z Q
Bore(mm) 5st | 10st | 15st 5st | 10st [15st 5st | 10st | 15st
6 7 | 12 [13.9] 6 [125[19.5[2655]| 85 | 9 |[3.5]|Mm3*0.5|M101.0[ 9 | 185 225 |325| 3 |275]|345|415]| 3
10 10 | 19 | 22 [ 6 [145] 21 | 28 | 12 | 12 | 3.5 | M4*0.7 [M15*1.5] 13 [ 205 | 27 |34 [ 4 |325] 39 | 46 5
15 12 | 27 | 31| 7 |165]|225] 29 | 19 | 14 |42 | m5*0.8 [M22*15] 20 | 235 ]| 205 [ 36 | 5 [375[435] 50 6




CuU H 222
CU Series Free Installation cylinder

L]
ICU / CU Series ordering code
cu | - 0 - | 10 | x| 30
ZFIHK S /Series Code
CU: A /CU Nonmal Type
CDU: ) E#IFE! /CDU:Attach Magnet Type
2 /Kinds
1 A/
K: Alek s zErt
ke
6mm
10mm
16mm
20mm
25mm
32mm
1752
0~50mm
E
D: X#)
S: HFh) (FFER)D
T 55 GREEH)
/Specifcation
AfZ (mm) /Bore (mm) 6mm 10mm [ 16mm [ 20mm [ 25mm 32mm
T {£4v B /Working Medium =5 /Air
FIERR /Fixed Type Wz / B (38FEE]) /Double action/Single Action Drawring in type
{RIEM} E 3 /Ensured Pressure Resistance 1.05MPa (10.5kgflcm? )
=% F &7 /Max.pressure 0.7MPa(7.1kgf/cm? )
. EEf) /Single 0.2MPa 0.15MPa 0.13MPa
5 RJE 71 Min.pressure
BARRERE Min.p Wz /Double 0.12Mpa 0.06 0.05MPa
EFRRE THBEEFFX: -10~70°C/Without auto switch:10~70(No freezing)
Ambient and Medium Temperature #HEBNFFX: -10~60°C/With auto switch:10~70(No freezing)
;78 /Lubrication AEE /Non-lube
SEEIRE /Piston speed 50~500mm/s
224 /Cushion 1 R%4E % /Rubber bumper
ATIRIRLL /Rod end thread HMBEL /Male thread
BR4L /N /Thread tolerance Class 2
£ /Cushion hifmi5 A48 " /Both ends buffer
1T#EA% (mm) /Margin of Stroke Error(mm) +1.0
Omm
SEER AT /Precision of Piston rod with Non-rotating +0.8 | +0.5
FEE O /Port Size M5*0.8 G1/8"

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT



N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

10

/Overall Dimensions

2.0P Theough 2-M5x0.8
Rod end nut ]
\ T ]
e § if
¥ A i
G ! I o
: 1 |
T t
E-E =
4-MN MM GA
[l M
‘ i v g [}
v L1, 2] I
f 2] f
$6-410 ol¥| I , { I
| } = : |
| i L _. .
2P Through
4- 87T Counterbore Aaso Switch
G S 5 5+ Stroke "
24 Stroke 2l
2-® P Through
2MEX0.8 ©32-Hc 118
Rod end mat :
\ 0 | &
i i e
P H1Ht 7 { [=]
| o B, : - ! '
4 }
L5 _GB |
4-NN MM " GA 2
$16-432 gP— )
- T G o| i I
ol = 3
| 3 :I -1 - [=
|
Widthacross flats L~
- A -
Lat]l LE]
= B N L H ™ g‘“\."_.‘l _ Auto Switch
e &% Soke -
/Dimension Sheet
HE (mm) 75 A A1 B C D E GA GB H K J L MM
Dimeter
6 7 - 13 22 3 7 15 10 13 17 10 - M3*0.5
10 10 - 15 24 4 7 16.5 10 16 18 11 M4*0.7
16 11 12.5 20 32 6 7 |16.5Note| 11.5 16 25 14 5 M5*0.8
20 12 14 26 40 8 9 19 12.5 19 30 16 6 M6*1.0
25 15.5 18 32 50 10 10 215 13 23 38 20 8 M8*1.25
32 19.5 22 40 62 12 11 23 12.5 27 48 24 10 |M10*1.25
EI12 (mm) £§5 /Dimeter NN P Q QA R T AN RENETT 5 AHETETT R
Withoul Auto Switch With Auto Switch
S 4 S Z
6 M3*0.5 3% 5 3.2 - - 7 67R%4.8 33 46 33 46
10 M3*0.5 JR 5 3.2 - - 9 6K 5 36 52 36 52
16 M4*0.7 iR 6 4.5 4 2 12 7.6R%6.5 30 46 40 56
20 M5*0.8 ;R 5.5 9 4.5 16 9.3R8 36 55 46 65
25 M5*0.8 iR 8 55 9 4.5 20 9.37R9 40 63 50 73
32 M56*1.8 /R 9 6.6 135 | 45 24 1% 11.5 42 69 52 79




N=PC

PNEUMATIC

RSQ TEREFT
RSQ Series Stopper cylinder

FLUID AUTOMATIC COMPONENT

IRSQ / RSQ Series ordering code
lrso| - | B - 20 | X 15 - D R
Z5IX S /Series Code
RSQ: Z#tiA! /CU Nonmal Type

RSDO: W &#IFA! /RSDO:Attach Magnet Type

22 4% /Mounting Type
B: @7l (#4E) /B:Though Hole (standard)
A: Fifk 424 /A:Both Ends Tapped Style

{112 /Cylinder Bore
20mm
32mm
40mm
50mm

1742 /Stroke

Z4E /Acting Type
D: &%) /Blank:Basic Type
B: EzpE (WE#®E)
B:Basic type(with spring)
SA: Bapfl CGEEED)
SA:Single acting Spring extend

pE RS
=A - E#E ($20-¢50)
K: FtEE! (¢ 20-¢50)
R: SRR ($20-950)
L: AIAFRRE (MERER) (032-950)
B AR (WEFARER) ($32-950)
C: RS (WERNARRFDFEGERE)
( $32-950)
DATHARE (WEFEREREHES) ($32-¢50)
E: TR (MERARERENIGER BHERE)
( $32-950)

11



N2RC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

12

/Specifcation
A% (mm) /Bore (mm) 20 | 32 [ 40 [ 50
FERR [Fixed Type Wz, Wah (NEHE) , Bz GREEL) /Double acting Double acting with spring loaded, Single acting(Spring extend)
TAE/ R /Working Medium =5 /Air

FRIEMSE 7 /Ensured Pressure Resistance

1.5MPa (15.3kgf/cm)

&5/ E S Max.pressure

1.0MPa (10.2kgf/cm)

IMEFRARIRE /Ambient and fluid temperature

-10°C~+70 CiEHgMEFF %A, &S +60°C) /-10°C~+70:(Without auto switch:No freezing)60°C

4% /Buffering

Pimi%BZ4E % /(Rubber bumper)

17822 % (mm) /Margin of Stroke Error(mm) +1.4(mm)
;78 /Lobrication AEE /No required
2% [Mounting BFL, MimMRL /Through-hole,Both ends tapped common
BEO Port Size PC(PT1/8)
/Overall Dimensions
Basic style:Through-hole mounting,Screw mounting ':SQA 5
@

These 5 figures show the piston rod extended.

$20

275 . |

M-

3 I 4-0 N through
8- @0 Counterbore

Y
2/ gt
{!;‘L)‘( W
1 TR
BHEIR
! 10{11})
20422)

through-hole  thread
T e

L

X

B+{Stroke)

Stroke

H+Stroke B+Siroke

A+2 Stroke

2 Stroke Q 2.p

¢T
3

v

H+Stroke B+Stroke

A+2 Stroke




/Dimension Sheet

35 /Moder B N Q1 R
RS [ QA20 45 5.5 M6*1 10
RS [ QA32 48 5.5 M6*1 10
RS [ QA40 52.5 5.5 M6*1 10
RS [] QA50 54 6.6 M8*1.25 14
&1#2 (mm) /Bore (mm)| A B D E G| H MJ N (0] P Q T U \ W Y A
20 67 45 12 36 4 | 22 - - 36 5.5 9.7 RC1/8| 20 24 24.5 22 48 47 -
32 68 48 20 45 8 | 20 | 60 |45] 34 85 9.7 RC1/8| 20 36 SilES) 20 58.5 - 14
40 80.5 | 525 | 25 52 10 | 28 69 5 40 5.5 9.7 RC1/8| 24.5 44 35 28 66 - 14
50 82 54 25 64 10 | 28 86 7 50 6.6 11.8 |RC1/8| 24.5 56 41 28 80 - 19

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

13



N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

14

MSQ
MSQ Series Stopper cylinder

IMSQ / MSQ Series ordering code
IMsQ| - | B | x | 10 | - |
[ZE71K E /Series Code |
ExR
XMRS
10~200mm
A: HIRREIRE
R: wRERER
[ el
/Specifcation
A ) 10 20 30 [ 50 [ 70 100 200
{3 A BRI
BEfERED R IR 1MPa (10.2kgf/cm® )
R: widERER 0.6MPa (6.1kgf/lcm®) ;¥ /Note
RIEERAED AR 0.1MPa (1.0kgf/cm?)
EfEER 0.2MPa 0.1MPa
IREMRAERE 0~60°C({HARVL:)
Zh wiE R4S BIRG
R: iy o R 7 o A
faEA%E 0~190°C
R AR 190
EEER 015 $18 021 [ 025 [ 026 $32 $40
BEOR &AL M5%0.8 RC1/8
MFL M5*0.8




N3RC

PNEUMATIC

/Overall Dimensions

8-WD depth WE(8
Circumference:8 equivalents

4-JJ depth 8

2+ ThroughJ

JA Counterbore
Counterbore depth JB

FLUID AUTOMATIC COMPONENT

$10, 420, 430,650

| Bore Size

10 31.5
20 347
/ 30 34.7
2-M5x0.8/
Piping port Plugged i - Max.approx. FU 50 51.7
With internal shock absorber MAQBLIR
View
& .'_':3
2-JC depth JD F—1—7
2-JU T
"\ ,r [ =
o E! P %1 I i
o 2 g
1 1
i 1 1 (=] - - 5
1 ) ah
®DF '
O
Through L &
T Z Vi
o
AU BA ®DG A 8 Ei. Effective
Maxapprox. SU | | s | &= _| |_depth YC
/Dimension Sheet
Bore size (mm) AA A AU AV | AW | AX| AY | BA | BB | BC BD BE CA CB D DD DE DF
10 55.4 50 8.6 20 [1565] 12| 4 9.5 [345] 27.8 | 60 27 4.5 28.5 | 46h9 | 46h9 | 20H9 5
20 70.8 65 | 106 [27.5] 16 | 14| 5 12 | 46 30 67 34 6 30.5 [ 60h9 6ih9 | 28H9 9
30 75.4 70 106 | 29 |185] 14 5 12 50 32 84 37 6.5 335 | 65h9 | 67h9 | 32H9 9
50 85.4 80 14 38 22 | 19 6 [155] 63 | 37.5 | 100 50 10 37.5 75h9 77h9 | 35H9 10
Bore size (mm) DG FA FB FC [ FD [ H J JA JB JC JD JJ Ju E
10 15h9 8 4 3 451131 6.8 11 6.6 M8*1.25 | 12 M5X0.8 M8*1 M5*0.8
20 17h9 10 6 25 |165|17 |86 | 14 8.5 M10*1.5 | 15 M6*1 M10*1 M5*0.8
30 22h9 10 4.5 3 65|17 |86 | 14 8.5 M10*1.5 | 15 M6*1 M10*1 Rc1/8
50 26h9 12 5 B 75|20 [10.5]| 18 10.5 | M12*1.75| 18 | M8*1.25 | M14*1.5 Rc1/8
Bore size (mm) Q S SD | SE | SF [SU| UU [ WA |[WB| WC WD WE WF XA XB XC YA |YB YC
10 34 92 9 13 | 45 |17.7| 47 | 15 |3H9| 3.5 | M5*0.8 8 32 27 3H9 3.5 19 [3H9 |35
20 37 117 10 12 60 | 25 | 54 | 20.5 [4H9| 4.5 M6*1 10 43 36 4H9 4.5 24 |4H9 |45
30 40 127 | 11.5 14 65 | 25 | 57 23 |4H9| 4.5 M6*1 10 48 39 4H9 4.5 28 |4H9 [4.5
50 46 152 | 145 | 15 75 |31.4| 66 |26.5|5H9| 5.5 |M8*1.25 12 65] 45 5H9 515 33 |5H9 |[5.5

15



N2PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

16

/Overall Dimensions

Basic style: MAQBLIA

8-WD (depth) WE 8
Circumference:8 equivalents

4-JJ depth JK
2-J(Through)J
JA X

(Counterbore depth) JB

$70,4 100, ¢ 200

Bore Size

shebesiil 20
70 55.4
100 55.5
. 200 747
Max.approx. FU
With shock absorber MAQBLIR
®DD 20 & View
20C(ept) D 9 |0 & " BB AR 18 :
2-M5%0.8/ r 0.2 ﬁJ [ Port Size 0
Piping port %' N — /
Plugged ‘|.... LS e ; 5 1‘ IJ
J o |
[ 2 0
ol 2 é{
== | +
+ || oOF ' k.
' Through g e
@ DG BAl %=
= =g YB
Max.approx. SU | 5 wg Effective
' | depth YC
Bore size AA AB A AV | AW | AX| AY | BA | BB| BC BD BE CB D DD DE
70 90 92 84 42 255 27 8 17 | 75 | 44.5 110 57 36 88h9 | 90h9 | 46H9
100 101 102 95 50 [29.5] 27 8 17 | 85 | 50.5 130 66 42 98h9 | 100h9 | 56H9
200 119 [ 120 | 113 | 60 |36.5| 36 [ 10 | 24 |103| 65.5 150 80 57 | 116h9 [ 118h9 | 64H9
Bore size (mm) DF DG | FA FB | FC |FD| H d JA JB JC JD JJ JK JU
70 16 |22H9| 12.5 5 35| 6 22 | 1041175 10.5 |M12*1.75 18 M8*1.25 10 M20*1.5
100 19 |24H9| 14.5 6 35|12 | 27 | 104|175 11 [M12*1.75 18 M8*1.25 10 M20*1.5
200 24 [32H9| 16.5 9 55| 15| 32 |142| 20 | 125 | M16*2 25 M12*1.75 13 | M27*1.5
Bore size Q S SD| SF [ SU |UU | WA | WB [WC WD WE WF XA XB XC YA YB |YC
70 53 170 18 79 |34.2]| 75 |32.5|5H9 [ 5.5 | M8*1.25 12.5 67 54 5H9 3.5 39 5H9 [3.5
100 59 189 22 90 34 | 86 |37.5| 6H9 | 6.5 |M10*1.55| 14.5 77 59 6H9 4.5 49 6H9 (4.5
200 74 240 | 29 108 [40.2 106 | 44 | 8H9 | 8.5 |M12*1.75| 16.5 90 69 8H9 4.5 54 8H9 6.5




N=PC

PNEUMATIC

XH
XH Series Style Air Gripper

FLUID AUTOMATIC COMPONENT

=
-~

N
Vot TR
Lot

IXH / XH Series ordering code

XH - 2 X 32 - D - O

#15 /Model
XH SE4TFF <8 /XH Parrallel Type Gripper
XH 3 & FF %A /XH Type Gripper

FHa¥E /Finger
2 4 /Quantity 2PCS

#142 /CylinderBore
6mm~40mm

FERR /Acting Type
D: £3f) /D:Double acting
S: 8% (#JF) /S:Single-acting(Normaliy open)
C: HBx) (HH) /C:Single-acting(Normaily closed)

PR EMR
Z=H: ®THKE (CR)
F: SBE (FKM)

S: #RE (S)

/Specifcation

A1 (mm) /Bore (mm) 6 [ 10 [ 16 [ 20 | 25 [ 32 [ 40
74 IMotion Pattern =5, /Air

FHEF R /Fixed Type 235, B5): I / & /Double acting,Double acting with spring loaded,Sing acting(Spring extend)

£ =% f & /7 /Max.pressure 0.7MPa

= . £ 5 (Double Acting) 0.15 0.2 0.1

A R i p e #3 /(Single Acting) 03 0.35 0.25

FEMRERE -10~60°C

Ambient and Medium Temperature
T iR{ESE /Max.operating frequency 180 c.p.m 60 c.p.m
EEHE (mm) /Repeatability Precision(mm) +0.01 +0.02
;178 /Lubrication FEE Not required

O IPort Size M3x05 | M3x0.8

17



N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

18

CY3
CY3 Series Rodless Cylinder

ICY3 / CY3 Series ordering code

CY3

Z5IX S /Series Code
JAFSEL /Rodiess Cylinder

AIE /Model
B: #ZA! /B:Normal Type
S: jBRA! /S:Sliding Type
L RIR S )4
L:Sliding Type Ball Guide Bearing Type
R: iR
R:Magnetically Coupied Direct mount Type
RG: $ih#E/
RG:Magnetically Coupled-Direct Mount-
Single Joint Type

#1142 /CylinderBore
6mm
10mm
15mm
20mm
25mm
32mm
40mm
50mm
63mm

1772 /Stroke
0~1000mm

A1 S /Magnet Code
=8 AHi# /Blank:Withoul Magnet
S: Hif# /S:With Magnet

/Specifcation

#14% (mm) /Bore (mm) 6 [ 10

15 | 20 [ 25 [ 32 [ 40

63

T 4&4v Bt /Working Mendiurn

=5, /Air

FER R [Fixed Type

£ 518 /Double action

{RIEMH £ /7 /Ensured Pressure Resistance

10.5kgf/cm? (1.05MPa)

£ 5% F & /7 /Max.pressure

7.1kgflcm? (0.7MPa)

{1 FE 7 /Min.pressure

1.8kgf/cm? (0.18MPa)

R ERE
Ambient and Medium Temperature

Cy1B/S:5~+60°C ~ Cy1 L:-10~+60°C  Cy1 R:-10~+60°C

SEERE /Piston Speed

Cy1 B/S:50~400mm/s  Cy1 L:50~1000mm/s  Cy1 R:50~500mm/s

2% % /Buffering

Cy1BIS: et Cy1 L: PSR et / iR e 2%

17222 % (mm) /Margin of Stroke Error (mm)

-0-250+1.0251-1000+1.41001-1500+1.8

;878 /Lubrication

AEE /Not required

EE DR /Port Size M5x0.8

[ G1/8" [

G1




AC

AC Series Rodless Cylinder

IAC /AC Series ordering code
AC | - 25 - 50 - 2 -
Z5IR S /Series Code
AC: ZFLEIER
AD: W%
ACD: ZEZms
HMEST
178
6~150mm
HHRE
1. &
2. iR
3. RE
HWAKS
=H: M
S: Mif
/Specifcation
S 172 RAWURER (NM) INEIRUCRER (NM) RABYEEE (kg) RESETEE (m/s)
Model Stroke Max.Absorbing Energy(NM) | Max.Absorb.Energy/Hour(NM) Max.Effective Mass(kg) Max.Impact Speed (m/s)
1 2 3 1 2 3
HAC-0806 [ 2 7.00 0.5 2 6 2 1 0.5
HAC-1005 5 3 10.800 1 3 7 3 %5 0.8
HAC-1008 8 4 14.400 2 4 9 3 1.5 0.8
HAC-1210 10 5 18.000 5 10 30 2 1.5 0.8
HAC-1412 12 15 36.000 8 50 100 3 1.5 0.8
HAC-1416 16 20 40.000 10 70 150 3 {5 0.8
HAC-1420 20 25 48.000 12 80 160 3 1.5 0.8
HAC-2020 20 40 48.000 30 200 700 3.5 2 1
HAC-2030 30 50 54.000 30 200 700 3.5 2 1
HAC-2050 50 60 66.000 60 400 1200 BI5) 2 1
HAC-2525 25 80 60.000 200 800 1500 4 2.5 1
HAC-2540 40 120 84.000 300 1200 2000 4 2.5 1
HAC-2550 50 98 98.000 15 40 160 4 2.5 1
HAC-2580 80 150 127.500 20 50 200 4 2.5 1
HAC-3660 60 250 125.000 400 1500 2400 4 2.5 1
HAC-2030 30 45 54.000 40 300 900 815 2 1
HAC-2035 35 52 64.400 40 200 650 3.5 2 1

N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

19



N=PC

PNEUMATIC

FLUID AUTOMATIC COMPONENT

20

S HAD-1410 HAD1415 HAD-2016 HAD-2025 HAD-2525 HAD-2530 HAD-2540 HAD-2550 HAD-2580
s 10 15 16 25 25 30 40 50 80
FARYBHAE (NM) 20 22 25 39 85 95 100 98 150
NEFIRUTEE R (NM) 24.000 26.400 32.000 39.000 51.000 57.000 84.000 98.000 127.500
RABHMEERE (kg) 80 120 200 312 400 480 700 720 800
BetEERE (m/s) 3.2 3.2 3.6 3.6 3.6 3.6 3.6 4.2 42
Be HAD-3625 HAD-3650 HAD-4225 HAD-4250 HAD-4275 HAD-64050 HAD-64100 HAD-64150
1712 25 50 25 50 75 50 100 150
FARBAE (NM) 150 300 260 500 750 12.000 24.000 36.000
IR BE R (NM) 90.000 108.000 130.000 155.000 187.000 1560.000 1920.000 2520.000
RABHMEER (ke) 1.400 1.400 3.000 4.000 6.000 12.727 18.181 23.636
SeEERE (m/s) 3.2 4.8 3.6 4.8 4.8 1.6 1.6 1.6




